STATE OF CONNECTICUT
CONNECTICUT SITING COUNCIL

Ten Franklin Square
New Britain, Connecticut 06051
November 6, 2000 Phone: (860) 827-2935
Fax: (860) 827-2950

Sandy M. Carter
Verizon Wireless

20 Alexander Drive
P.O. Box 5029
Wallingford, CT 06492

RE:  TS-VER-048-001013 - Cellco Partnership d/b/a Verizon Wireless request for an order to approve
tower sharing at an existing telecommunications facility located at 101 Burbank Road, Ellington,
Connecticut.

Dear Ms. Carter:

At a public meeting held November 2, 2000, the Connecticut Siting Council (Council) ruled that the
shared use of this existing tower site is technically, legally, environmentally, and economically feasible
and meets public safety concerns, and therefore, in compliance with General Statutes § 16-50aa, the
Council has ordered the shared use of this facility to avoid the unnecessary proliferation of tower
structures. This facility has also been carefully modeled to ensure that radio frequency emissions are
conservatively below State and federal standards applicable to the frequencies now used on this tower.

This decision is under the exclusive jurisdiction of the Council. Any additional change to this facility
may require an explicit request to this agency pursuant to General Statutes § 16-50aa or notice pursuant to
Regulations of Connecticut State Agencies Section 16-50j-73, as applicable. Such request or notice shall
include all relevant information regarding the proposed change with cumulative worst-case modeling of
radio frequency exposure at the closest point uncontrolled access to the tower base, consistent with
Federal Communications Commission, Office of Engineering and Technology, Bulletin 65. Any
deviation from this format may result in the Council implementing enforcement proceedings pursuant to
General Statutes § 16-50u including, without limitation, imposition of expenses resulting from such
failure and of civil penalties in an amount not less than one thousand dollars per day for each day of
construction or operation in material violation.

This decision applies only to this request for tower sharing and is not applicable to any other request or
construction.

The proposed shared use is to be implemented as specified in your letter dated October 12, 2000.
Thank you for your attention and cooperation.

Very truly yours,

Mt --
Mortimer A. Gelston 4 R

Chairman

MAG/RKE/laf

¢:  Honorable Michael P. Stupinski, First Selectman, Town of Ellington
Wayne Kemp, Crossroads Site Management LL.C

1Asiting\em\bam-veriellington\dc ! 10200.doc



A ™~y i : ‘\ . .~ A = =
JER - 0480003

J
{

Notwork Dept é@) : e verizonvircless

Verizon Wireless

0C7‘ I 9 20 Alexander Drive ‘
October ]2’ 2000 = COI\[,\, 2000 Wallingford, Connecticut 06492
=Ty Ne QGTIQ
Co ngr
Mr. Mortimer A. Gelston, Chairman YA
Connecticut Siting Council
10 Franklin Square HAND DELIVERED

New Britain, Connecticut 06051

Re:  Request by Cellco Partnership d/b/a Verizon Wireless for an Order to
Approve the Shared Use of a Tower Facility located at 101 Burbank Road,
Ellington, Connecticut.

Dear Chairman Gelston:

Pursuant to Connecticut General Statutes (C.G.S.) Sec. 16-50aa, Cellco
Partnership d/b/a Verizon Wireless hereby requests an order from the Connecticut Siting
Council (“Council”) to approve the proposed shared use by Verizon Wireless of an
existing tower located at 101 Burbank Road, Ellington, Connecticut. The property is
owned by Donald & Rosalie Stavens and the tower is owned and managed by Crossroads
Site Management, LLC. As shown on the attached drawing and as further described
below, Verizon Wireless proposes to install antennas on the existing tower and to locate
an equipment shelter at the base of the tower. Verizon Wireless requests that the Council
finds that the proposed shared use of the tower facility satisfy the criteria stated in C.G.S.
Sec. 16-50aa, and to issue an order approving the proposed shared use.

Background

Verizon Wireless is licensed by the Federal Communications Commission to
provide cellular telephone service in the Hartford County New England County
Metropolitan Area (NECMA), which includes the area to be served by the proposed
Ellington installation.

The facility at 101 Burbank Road in Ellington, consists of a 180 foot AGL lattice
tower built by Crossroads Site Management, LLC and is located on a leased parcel. The
lattice tower can structurally support multiple carriers and the Town of Ellington has
approved the use of the tower with the condition that it be available to other providers
and the public safety agencies of the Town. Verizon Wireless and Crossroads Site
Management, LLC have agreed to the proposed-shared use of this tower pursuant to
mutually acceptable terms and conditions. Crossroads Site Management LLC has
authorized Verizon Wireless to apply for all necessary permits, approvals and
authorizations which may be required for the proposed shared use of this facility.



Mr. Mortimer A. Gelston
October 12, 2000
Page 2

Verizon Wireless proposes to install twelve (12) Swedcom Model ALP-E901 1
antennas, approximately 43 inches in height, on a platform with their center of radiation
at approximately 170 feet above ground level (“AGL”). Verizon Wireless will also
install one (1) GPS antenna on the tower. Equipment associated with these antennas, as
well as a 40 KW diesel-fueled emergency stand-by generator, would be located in a new
approximately 12-foot x 30-foot equipment building located at the base of the tower.

C.G.S. Sec. 16-50aa provides that, upon written request for approval of a
proposed shared use, “if the Council finds that the proposed shared use of the facility is
technically, legally, environmentally and economically feasible and meets public safety
concerns, the Council shall issue an order approving such shared use” (C.G.S. Sec. 16-
50aa(c)(1).)

Discussion

A Technical Feasibility. The existing tower is structurally sound and
capable of supporting the proposed Verizon Wireless antennas. The tower will
not require any structural modification to support the proposed attachments. A
Structural Design and Loading Report prepared by Rohn Industries, Inc. is
attached to this application. Verizon Wireless engineers have determined that the
proposed antenna installations present minimal potential for interference to or
from existing radio transmissions from this location. In addition, the applicant is
unaware of any occasion where its operations have caused interference with AM,
FM or television reception. The proposed shared use of this tower therefore is
technically feasible.

B. Legal Feasibility. Under C.G.S. Sec. 16-50aa, the Council has been
authorized to issue an order approving the proposed-shared use of an existing
communications tower facility such as the facility at Janoski/Ference Road.
(C.G.S. Sec. 16-50aa(c)(1).) This authority complements the Council’s prior-
existing authority under C.G.S. Sec. 16-50p to issue orders approving the
construction of new towers that are subject to the Council’s jurisdiction. C.G.S.
Sec. 16-50x(a) directs the Council to “give consideration to other state laws and
municipal regulations as it shall deem appropriate” in ruling on requests for the
shared use of existing tower facilities. Under the authority vested in the Council
by C.G.S. Sec. 16-50aa, an order by the Council approving the shared use would
permit the applicant to obtain a building permit for the proposed installations.



Mr. Mortimer A. Gelston
October 12, 2000
Page 3

C. Environmental Feasibility.  The proposed shared use would have a
minimal environmental effect, for the following reasons:

1. The proposed installations would have an insignificant incremental
visual impact, and would not cause any significant change or alteration in
the physical or environmental characteristics of the existing site. The
addition of the proposed antennas would not increase the height of the
tower, and would not extend the boundaries of the tower site, including the
placement of the equipment building near the base of the existing tower.

2. The proposed installation would not increase the noise levels at the
existing facility by six decibels or more. The only additional noise will
occur during emergency use or periodic exercising of the generator.

3. Operation of the additional antennas will not increase the total
radio frequency electromagnetic radiation power density, measured at the
tower base to a level at or above the applicable standard. “Worst-case”
exposure calculation for a point at the base of the tower in relation to the
operation of Verizon Wireless’s antenna array is as follows:

Applicable Calculated Percentage
ANSTI Stnd “Worst-Case” of Stnd.
Verizon Wireless 0.583 mW/cm2 0.0236 mW/cm?2 4.05%
The “worst-case” exposure would be only 4.05 % of the ANSI standard, as

calculated for mixed frequency sites. Power density levels from shared use of the tower
facility would thus be well below applicable ANSI standards



Mr. Mortimer A. Gelston
October 12, 2000

Page 4

4. The proposed installations would not require any water or sanitary
facilities, or generate discharges to water bodies. Operation of the
emergency back-up generator will result in limited air emissions;
pursuant to R.C.S.A. Section 22a-174-3, the generator will require
the issuance of a permit from the Department of Environmental
Protection Bureau of Air Management. After construction is
complete, the proposed installation would not generate any traffic
other than periodic maintenance visits.

The proposed use of this facility would therefore have a minimal environmental
effect, and is environmentally feasible.

D. Economic Feasibility. As previously mentioned, the tower owner and the
applicant have entered into a mutual agreement to share the use of the existing
tower on terms agreeable to the parties, and the proposed tower sharing is thus
economically feasible.

E. Public Safety Concerns. As stated above, the existing tower is structurally
capable of supporting the proposed Verizon Wireless antennas. The Applicant is
not aware of any other public safety concerns relative to the proposed tower
sharing of the existing tower. In fact, the provision of new or improved cellular
phone service in the Ellington area, and the surrounding areas between Somers,
Stafford Springs, Vernon and Tolland, through shared use of the tower is expected
to enhance the safety and welfare of area residents and travelers. The public
safety benefits of wireless service are further illustrated by the decision of local
authorities elsewhere in Connecticut to provide cellular phones to residents to
improve local public safety and emergency communications. The proposed-
shared use of this facility would likewise improve public safety in the Ellington
area.

Conclusion

For the reasons discussed above, the proposed shared use of the existing
telecommunications tower facility at 101 Burbank Road satisfies the criteria
stated in C.G.S. Sec. 16-50aa, and advances the General Assembly’s and the
Council’s goal of preventing the proliferation of towers in Connecticut. The
Applicant therefore requests that the Council issue an order approving the
proposed shared use.




Mr. Mortimer A. Gelston
October 12, 2000
Page 5

Thank you for your consideration of this matter.

Pursuant to Connecticut General Statutes Sec. 16-50v and Section 16-50v-1(a) of
the Regulations of Connecticut State Agencies, Verizon Wireless has enclosed a check in
the amount of $500.00 for the required filing fee.

Respectfully yours,

/J(va(,? ™. Colic

Sandy M. Carter
Manager — Regulatory
Verizon Wireless

Attachments
cc: Michael Stupinski, First Selectman



CROSSROADS SITE MANAGEMENT, LLC.
1050 Buckley Highway

Union, CT 06076

Wayne Kemp 860-614-3060

LETTER OF AUTHORIZATION

8/3/00

Site Location: 101 Burbank Road
Ellington, CT

RE: Building Permits and Land Use Approvals

Crossroads Site Management, LLC, (CSM) lessee of a certain parcel of land known as
101 Burbank Road, does hereby appoint Verizon Wireless and its agents and
representatives, as Lessee’s Agent for the purpose of completeing, executing, and/or filing
any applications, form, map, approval, variance, special permit or other land use approval
or building permit required to provide Verizon Wireless with lawful access to, and the
ability to use the property for the purpose of installing, erecting, or otherwise placing
antennae, support structures and related equipment on the property. CSM shall fully
cooperate with Verizon Wireless and its agents and representatives in obtaining any
required approvals. Verizon Wireless shall be responsible for all costs, filing fees, or any
expense incurred in the connection with securing any approvals.

Crossroads Site Management, LL.C

By: Wayne Kemp, Partner

. J"W{%
/o




Network Dept. veY iLQﬂ wireles

e

Verizon Wireiess
20 Alexander Drive
Wallingford, Connecticut 06492

October 12, 2000

Honorable Michael Stupinski
First Selectman

Memorial Town Hall

55 Main Street

Ellington, Connecticut 06029

Dear Mr. Stupinski:

This letter is to inform you that Cellco Partnership d/b/a Verizon Wireless plans
to install antennas and associated equipment at the existing tower facility located at 101
Burbank Road, Ellington, Connecticut. Iam enclosing a copy of Verizon Wireless’s
tower sharing application to the Connecticut Siting Council.

The application fully sets forth the Company’s proposal. However, if you have
any questions or require further information on our plans or the Siting Council’s
procedures, please contact me at (203) 294-8519 or M. Joel Rinebold, Executive
Director of the Connecticut Siting Council at (860) 827-2935.

Sincerely,

. .f/é,h ,A'J, . (/‘-‘-I‘A-

Sandy M. Carter
Manager- Regulatory
Verizon Wireless

Enclosure



STATE OF CONNECTICUT o COUNTY OF TOLL ANL
INCORPORATED 1784

TOWN OF ELLINGTON

35 MAIN STREET ® P.O. BOX (57
ELLINGTON, CONNECTICUT 06029

December 10, 19589

Crossrcads Site Management LLC
1050 Buckley Highway
Union CT 06076

Dear Sirs:

The Ellington Pianning andg Zoning Commission, at their meeting on Monday, October
25, 1998, approved your application with the following motion:

MOVED (AUCTER) SECONDED (SPIELMAN) CARRIED UNANIMOUSLY (AYES:
ZAHNER, AUCTER, SPIELMAN, KUPECKY, HEIDARI, HARFORD) (NAYES: 0) TO
APPROVE #Z9939 SUBJECT TO THE RECOMMENDATIONS OF THE TOWN
ENGINEER’S LETTER OF 10/25/99

| am enclosing a copy of the Legal Notice for your records.

Very truly yours, )
%{im:@:;u 7S Vieedala

Cornelia B. Nichols, Clerk
Planning and Zoning Commission

enclosure



LEGAL NOTICE

The Ellington Planning and Zoning Commission, at their meeting on Monday, October
25, 1999, took the following actions:

#29934 - Approved the application of Paraco Gas for Site Plan Approval on property
located at 194 Windsorville Road APN 008-067-0000 in a C Zone.

#Z9939 - Approved with Conditions, the application of Crossroads Site Management,
LLC for Site Plan Approval for a telecommunications tower and related equipment
buildings at 101 Burbank Road APN 148-017-0000 in a RA Zone.

#29940 - Approved with Conditions, the application of Boynton Construction for a
Special Permit for an Accessory Apartment on property located at 5 Carolyn Circle
APN 014-010-0012 in a AA Zone.

#59911 - Continued to the 22 November 1999 meeting, the application of Ridge
Country Estates-Section |l for an 8-Lot Subdivision of property located at Tripp &
Middle Roads APN 041-002-0000 in a AA Zone.

# 29941 - Continued to the 22 November 1999 meeting, the application of David
Olender for a Special Permit for 2 Rear Lots on property located at Tripp & Middle
Roads APN 041-002-0000 in a AA Zone.

#Z29938 - Approved the application of Homestead Fuel, Inc., Modification of Site Plan to
allow installation of a temporary storage building on property located at 100 West Road
APN 028-010-0000 in a C Zone.

A copy of this notice is on file with the Town Cierk.
Dated at Ellington, Connecticut this 26" day of October 1999.
The effective date of this notice is Friday, October 29, 1999.

mery Zahner, Chairman
Co0tecocias B locoduiw
Cornelia B. Nichols, Clerk
Planning and Zoning Commission

JOURNAL INQUIRER PUBLISH ONE {SSUE

Thursday, October 28, 1999.






TOWN OF ELLINGTON
CERTIFICATE OF VARIANCE

Notice is hereby given that the Zoning Board of Appeals of the
Town of Ellington, at its Meeting on Monday, October 4, 1999,
granted a Variance to Donald & Rosalie Stavens, 101 Burbank
Road, Ellington, C.:nnecticut 06029 as follows:

NATURE OF VARIANCE (S)

The Zoning Board of Appeals granted a Variance to allow
construction of a communication tower with the condition that it
be available to other providers and the ..olic Safety Agencies of

the Town of Ellington.

ZONING REGULATION(S) VARIED

Ellington Zoning Regulations, Section ! Area & Yard
Requirements. Height Requirements 35’ to 190'.

NAME OF OWNER(S) OF PROPERTY

Donald & Rosalie Stavens, 101 Burbank Road, Ellington,
Connecticut 06029. -

Dated at Ellington, Connecticut, this 29°" day of C »ber 1999.

I hereby certify that the above is a true and attested copy of
the aforesaid variance from the records of the Zoning Board of

Appeals.
S1gneé;%2%QC%%Z%;é;jZi;&éﬁéﬁ%ym
ik

Micha Riley, Chatw

Signed Aﬁ%@ﬁZ,P?g. 22425&29

Cornelia B. Nichols, Clerk

Recorded-Ellington Land Records

on

@ Volume Page

In order to issue a Zoning Permit involving
this property, a copy of this document listing
the date same was recorded in the Ellingtorn
Land Records, must be presented to the Zoning

Enforcement Officer.



R R E R R R BREEREEREEREE NN RN NN EREEEREEEE R

ALP-E 9011-Din

Enhanced Log-Periodic Antenna

Features:

U Small Size

U Aesthetically Pleasing

U Suitable For TDMA/CDMA
U High Return Loss

O Low Intermodulation

Swedcom

O High FTB

Q Broadbanded

U Side-lobe Suppression

U Sturdy Design

Q Down-Tilt Brackets Incl.

33.461in
3350 mm

276 in
70 mm
*

The distance between the center
of the bolts (on the back of the antenna)
are shown in the drawing above.

Bolt diameter is: 3/8-16
[comes with lock nut].

Frequency Range:
Impedance:

Connector Type:

Return Loss:

Polarization:

Gain:

Front To Back Ratio:
Side-Lobe Suppression:
Intermodulation (2x25W):

Power Rating:
H-Plane (-3 dB point):
V-Plane (-3 dB point):
Lightning Protection:

800-900 MHz
50 ohm

7/16 Din
20dB
Vertical
>11dBd
>30dB

18dB

IM3 > 146 dB
IMS5 > 153 dB
IM7/9 > 163 dB
500 W
85-92°

16 - 18°

DC Grounded

Overall Height: 43 in [1092 mm]
Width: 6.5in [165 mm]
Depth: 8in [203 mm]
Weight Including Tilt-Brackets: 20 Ibs 9.1 Kg]

Rated Wind Velocity:

Wind Area (CxA/Side):
Lateral Thrust At Rated Wind
Worst Case:

113 mph [180 Km/h]
2.3 sq. ft. {0.22sq.m]

112 1bs [500 N]

Radiating Elements: Aluminum

Extrusion: Aluminum

Radome: Grey PVC

Tilt-Bracket: Hot Dip Galvanized Steel
Antenna Bolts: Stainless Steel

The ALP-E 9011-Din is made in U.S.A.



TOMWER HEIGHT = 180 FT

TOWER DESIGN LOADING LOOO485ANG - ANCHOR MATERTAL
DESIGN WIND LOAD PER ANSI/TIA/E[A-2Z2-F 1996, ITEM| arr.] PART MNO. TTEM DESCRIPTION OWG, NO.
, " S0 MPH BASIC WIND SPEED (172" RADIAL ICE LOAD). Al 301X78AB ANCHOR BOLT ASSY 30-1X7681770T N/A
4'-7 3,4 AZ \BLT0Z ANCHOR BL™ TO-HOLE FS 27 '-DF C860750_ ]
e TOP SPREAD THIS TOWER IS DESIGNED TO SUPPORT THE FOLLOWING LOADS: ;w m 0 wﬂ gug\ 1TE MAN | ADO0B54, 7-3
E.P.A. (SF 5102 FOUNDATION & ANCHOR TOLERANCE ABIOZ2]4
ANTENNA (sr) LINE A5 B73053] ANCHOR BOLT TEMPLATE INSTALLATION | Bo300s
TYPE NO ICE| ICE SIZE
175 (12) DAPA 2980.015 ANTENNAS 130.0 155.0 (12)
W/ 12" LEG MOUNTING FRAMES TOTAL TOTAL 1-5/8"
165 (12) DAPA 2980.015 ANTENNAS 130.0 155.0 (12) T I AN LO004GRLAB - TOWER ACCESSORIES
7% W/ 127 LEG MOUNTING FRAMES TOTAL TOTAL 1-5/8" 2| PART NO. ITEM DESCRIPTION OWS. No.
B] | 2 [CPSAT PLATE ASSY CAP 57 FL FL'6 [ B7eo7i5—
155 (6) DAPA 2980.015 ANTENNAS B88.0 109.0 (s) 5 1__Tvagssa GART ASS5Y 6NST LT. 75X 13 —63B0CT =]
sLoPE W/ 12" LEG MOUNTING FRAMES TOTAL TOoTAL 1-5-8~ BS |7 |vBBzeA OIRT ASSY 7N L1.75X, 13> - 6360L TOP O eooss
-_— S CHANGE 145 (6) DAPA 2980.015 ANTENNAS 85.0 109.0 (6) L W [OFT54K0 LADDER WG FACE 107, 75. 44 9018718
W/ 12° LEG MOUNTING FRAMES TOTAL TOTAL 1-5/8" ] g W20 1560 Knmmn w_wmw wm.mwwmﬁ mo..p..uw»n* C901618
Y695 ] 75-2.65" CE LAD] NA
135 (6) DAPA 2980.015 ANTENNAS 8a.0 109.0 (5} 7 1 B _1Kxvizasa CLIP ASSY 3.5-4" ANGLE LADORW. G N7A
P W/ 12* LEG MOUNTING FRAMES TOTAL TOTAL 1-5/8" [ 3 56 KI'T" BASE GRD S5V 7"AB 4500 TIN — 7317105
- 51 1 A SFGN ANTI-CLIMB WARNING ASSF N7A
BI0] I |A790735 | BOLT ASSY LRAWING WING T a755/55
- BIT | T _|B651264 STEPBOLT DETAIL B651264
BiZz| 1 |5720305 GROUTING & DRAINAGE DETAIL Sev 1 SK720308
_GENERAL NOTES C00048B8SD - GAFETY DEVICE
ITEM] orv.] PaRT NO. ITEM DESCRIPTION DVG. NO.
+ FIORN COMANICATION TOWER DESIONS CONFORM TO ANSL/TIA/EIA-222-F
! UNLESS OTHERWISE SPECIFIED UNDER TOWER DESIGN LOADING, 222 Cl FBHM J HAIRNESS ROHN-LOC MEDIUW WZRLSE & TAN N/A
2. ANTENNAS AND LINES LISTED IN TOWER DESIGN LOADING TAME ARE o RLTPAT | POSST_ASSY TOP AL _EX5X3/4 "FL T C741234
PROVIDED BY OTHERS UNLESS OTHERWISE SPECIFIED C3 | 3 4 RESTRAINT ASSY CABLE RL 4 "PIPE NA
> eI LoD, iR, LGt s 5 oy e T e
D leET e (o AT N ACCORBANCE VT AT A E 14225 F eI T A Cia T eanit oo Loer i i s 12
<E Wﬁ%«m&.ﬁ g«%.\ DRAWINGS FOR PART NUMBERS €7 | 7 14791 : ASSY 5735
- STEP BOLTS ARE FROVIDED ON ONE LED ONLY FOR SECTIONS 6 THIOUGH

;
u
L1 AND ALL THREE LEBS FOR SECTIONS 12 THROUGH 16 AND ALL g
e. nw.mmowu.:ﬂmawxg REVISIONS OF THE DRAWINGS SHOWN IN THE
7. mﬁﬁ@ﬁm\g_\wﬁdgﬁ TONER AND ANCHOR BOLTS (SEE
8. mﬂm..*rmmmnﬂﬁgmmﬂg::nggﬁgﬁbn
o WORX ST mm IN ACCORDANCE W19 .eﬁwwww»\m: 222-F, "STRUCTURAL
" STANDARDS FOR STEEL ANTENG TOMERS AND ANTENNA SUFFORTING STRUCTURES®,
11, TUERANCE ON TOWER STEEL HEIGHT IS EOUAL TO FLUS 1o1 0%
12. PURCHASER b..SPP VERIFY THE INSTALLATION IS IN CONFORMANCE
WITH LOCAL, STATE, AND FEDERAL REDUIREMENTS FOR OBTIORTTON
MARKING AND LIGHTING, .
/3. TONER MEMEER DESIGN DOES NOT INCLUDE STRESSES OUE TO ERECTION

TO MINIMIZE .
. 17. DESIGN ASSLMES THAT ANTENNA TRANSMISSION LINES AND WAYVEGUIDE
LADOERS ARE DISTRIBUTED OVER TWO TOWER FACES,
18. ONE 15-HOLE WAVEBUIDE LADDER WITH 4'-0" ON CENTER RUNB SPACING —
IS5 PROVIDED FROM 10°+/~ ELEVATION TO TOP OF TOWER FOR SNAP-ON
HANGERS.  (TWD WAVEGUIDE LADDERS ARE FUTURE)
19. STEP BOLTS WITH ROHN~-LOC SAFETY DEVICE ARE PROVIDED FOR CLIMBING
THE ENTIRE TOMER HEIGHT.

. TOWER CONFIGURATION
- 27 Nouir2 ST RS A 0 0e Provicen oy WoiL o N5
MATERIAL .
v. Al _
TOWER SITIE: ELLINGTON, CT
. COUNTY: TOLLAND
EMNM\ -Wh“mxw No.A Revision Description A Oete A Rev By A Ckd B, A Appd B
THIS DRAWING IS T™E PROPERTY OF ROWMN, IT IS NOoT |-
B s e 2 S RO H N
TOWER REACTIONS
p—— Y. T 100 R NEY R ASSEMBLY
ON = 369.0 KIPS Drawn: Lik| 5711700
T A F e SITE MANAGEMENT
0.T.M, = 6330.3 FT-KIPS Aps. Eng.s 567/00) ENG. FILE: [owe. »o.. C000488 ]
Parent Filie: H2RG/AR | oo —




SITING COUNCIL SUBMISSION [!

~ ELLINGTON
TELECOMMUNICATION FACILITY | .-+~

SCALE: NONE SCALE:  1"=1000"

101 BURBANK ROAD
ELLINGTON, CONNECTICUT 06029

PREPARED FOR: _
CELLCO PARTNERSHIP DBA
VERIZON WIRELESS
20 ALEXANDER DRIVE
WALLINGFORD, CONNECTICUT 06492

CAD FILE: CVC78201

CONTENTS

TITLE SHEET

§G-1 SITE PLAN AND ELEVATION PREPARED BY:

e

Companies
ARCHITEGTURE  ENGINEERING PLANNING  LANDSCAPE ARCHITEGTURE BOT FOR CONSTRUGTION
LAND SURVEYING  ENVIRONMENTAL SCIENCES  ANALYTICAL SERVICES
DATES
355 RESEARCH PARKWAY
MERIDEN, CONNECTICUT 06450 ISSUE DATE: OGTOBER 4, 2000
(203) 630-1408 REVISION:

(203) 630-2615 Fax




PROPOSED ICE
ICE BRIDGE {TYP)

180' LATTICE TOWER PROPOSED

ATITUDE 41'58'10.43", , !
/ W GHTUDE 72°23'07.09") 4 X 1211?8#(:(%

PROPOSED 12° X 30' CELLCO
PARTNERSHIP EQUIPMENT SHELTER

Se)
/ Transformer
9, Pad

SITE PLAN . GRAPHIC SCALE

10 5 0

SCALE: 1"=10'

" [NOT FOR CONSTRUCTION |

SCALE N FEET

TOP OF EXISTING TOWER

-I PROPOSED CELLCO PARTNERSHIP ANTENNA RAD CENTER

PROPOSED 12' X 30' CELLCO
PARTNERSHIP EQUIPMENT SHELTER

170°
180"

TOWER ELEVATION

SCALE: 1"=10'

GRAPHIC SCALE

10 5 0

10

SCALE IN FEET

Xrof (3): XYC78201, XCC78201, XCC78202

.‘

Companies

ARCHITECTURE
ENGINEERING
PLANNING
LANDSCAPE ARCRITECTURE
LAND SURVEYING
ENVIRONMENTAL SCIENCES
ANALYTICAL SERVICES

355 Research Parkway
Meriden, CT 08450
(203) 630-1408
(203) 630-2615 Fax

]
i
l
i
|
i

101 BURBANK ROAD
ELLINGTON, CONNECTICUT

SITE PLAN AND TOWER ELEVATION
ELLINGTON TELECOMMUNICATION FACILITY

|
i
|

]

o

o
%]
-
]
28
®

-]

z
Designed R.C.B.
Drawn K.AK,
Checked R.C.8,
Approved R.A.L
Scale AS SHOWN
Project Na. 00c782
Date 10/04 /00
CAD Flle 5CC78201
Sheet No.

SC-1

THFRF NRAWNAR GHAll NNT RE HTHITFD RY 4NY PFRSON PRU NR CORPARATINA WITHNLIT THF SOFFIFIR WRITTEN PFRUIRUAN NF RI CNUPANSFS




TOWER HEIGHT = 180 FT

- SLOPE
CHANGE

"

BSi47e

AZ83%)

@/I- tod' ko

()

TOWER DESIGN LOADING COOD4E86ANE — ANCHOR WMATERTAL
DESIGN WIND LLOAD PER ANSI/TIAZEIA-Z22-F 1996, ITEM| aTY.| PART NO. ITEM DESCRIPTION OWG. NO.
80 MPH BASIC WIND SPEED (1r27 RADIAL ICE LOAD). Al ! 130/X78AB ANCHOR BOLT ASSY 30-IX78&717710T NZA
AZ I__TABLCT0Z ANCHOR Bl TO-HOLE FS 27°-5 [ Ce86730 ]
THIS TOWER 1S DESIGNED TO SUPPORT THE FOLLOWING LOADS: X 7 AODO654 FOUNDATION DETATLS ROCKINE SITE MAN | ADD0654 7
P.A. Ad I JAg10214 FOUNDATION & ANCHOR TOL, CE ABIDZT4
m#w.viqwhz ANTENNA E.P.A._(5F) LINE A5 i _|B8730521 ANCHOR BOLT TEMPLATE INSTALLATION 1 B730521
FT. TYPE NO ICE Ice SIZE
175 (12) DAPA 2080.015 ANTENNAS 130.0 155, 0 (12)
W/ 12' LEG MOUNTING FRAMES TOTAL TOTAL 1-5/8"
165 (12) DAPA 2980.015 ANTENWAS 130.0 155.0 (12) T o T B e D ABBLAB - TOWER ACCESSORIES
WS 12" LEG MOUNTING FRAMES TOTAL TOTAL 1-5,89% -1 _PART NO. ITeM DESCRIPTION DWG. NO.
Bl 2 [6PEAT PLATE ASSY CAP 57 FL Bi°S B760739
155 (6) DAPA 2980.015 ANTENNAS 88.0 109.0 (6) 82 I vagssa GIRT_ASSY 6NST L71. 75X, 13 . B3BOLT 99
W/ 127 LEG MOUNTING FRAMES TOTAL ToTAL /-5~ BS | 7 _|vbazsA GART ASSY 7N L7.75%. 137 -8360C TOP g 0850698
e (6] DAPA 2980.015 ANTENNAS 5.0 109.0 73] 54 I WL IOF IB4KD LADDER A W/G FACE 10°.75.44 C9018i8
> _Ean 85 | & Twm.20F(54xD LADDER ASSY WJG FACE 207 75 44 9016718
W/ 12° LEG MOUNTING FRAMES TOTAL TOTAL 1-5/8 B5 | 15 |K7698 CLTP ASSY [ 75-2 5% ANGLE BRACE N7A
135 (6) DAPA 2080.015 ANTENNAS a8s.0 109.0 (6) 87 178 |KYi2g7A CL.IP ASSY 3.5-4" ANGLE LADORW,G NZA
W/ 12' LEG MOUNTING FRAMES TOTAL TOTAL 1-5/8" K 3 86 KI'T BASE SV _T7AB 4500 TIN €737 708
Bg T—_[ACWS STGN ANTI-CLIMD WARNING ASST N7A
[BI0] T [A79073% BOLT ASSY DRAWING - 1 A790735
Bl 1" T |B651264 STEFPBOLT DETAIL 8651264 ]
BIZ1 T |5%720305 GRIOUTING & DRAINAGE DETATL S5V SK720305
—BENERAL NOTES COO048BE50 — SAFE TY DEVICE
ITeM| orv.] ParT No. ITEM DESCRIPTION OWG. NO.
r am.zm ngﬁntﬂ&% TOVER R.Mwmbﬁmx\m«ﬁ; 222-F [} / RULFBHM | HAIRNESS ROAN-LOC MEDIUM W/RLSC & LAN N/A
2. ANTENNAS AND LINES LISTED IN TOWER DESIGN LOADIMS TABLE ARE (3 RLTPAT POSST ASSY TOP AL 5X5X3747FL FL C741234
PROVIDED BY OTHERS LNLESS OTHERWISE SFECIFIED C3 | I |RCRAZ RESIRAINT ASSY CABLE RL 4"PIFE NA
3. THE DESIGN LOADING CRITERIA INDICATED HAS BEEN PROVIDED TD [ 5 |RLCRA3 RESSTRAINT ASSY CABLE RL B-72~ NOA
AOMN. THE DESION LOADING CRITERIA HAS BEEN ASSUNED T0_BE BASED 5 T 1R BEAS BRIACKET ASSY BOTT Pt G Fire A
ON SITE-SPECIFIC DATA IN ACCORDANCE WITH ANSI/TIA/E[A-222-F 5 T Heien CAIBLE ROHN LOC 150 TH—3 /e
AND MUST BE VERIFIED BY GTHERS PRIOR TO INSTALLATION AIBLE ROAN LOC 7 S/EEHS N/A
4. SEE INDIVIDUAL SECTION ASSEMBLY DRAWINGS FOR PART MUMBERS €7 !__]A790735 BOULT ASSY DRAWING A7S0135
AND SECTION ASSEMBLY DETAILS.
s, Mwmvgﬂﬁmmcinmugnﬁrmmoﬁ«gmmnlgn THROUGH

11, AND ALL THREE LEBS FOR SECTIONS |2 THROUGH 16 AND ALL My
SECTIONS.

BILL

. WORK

STANDARDS FOR
- TOLERANCE ON TOWER STEEL HEIGHT Is
OR MINUS OX.
« PURCHASER SHALL VERIFY THE INSTALLATION IS IN CONFORMANCE
WITH LOCAL, STATE,
MARNING AND L IGHTING,

13.

4.

15,
18.

17.
8.

REFER TO THE LATEST REVISIONS OF THE DRAWINGS SHOWN IN THE

OF MATERIALS.

« PAL NUTS ARE PROVIDED FOR ALL TONER AND ANCHOR BOLTS (SEE
DWe. A790135).

. THE LEG PART

EACH SECTION,

DESIGN ASSIMES LEVEL GRADE AT TOWER SITE.

NUMEER IS STAMPED AT THE BOTTOM OF EACH LEG ar

SHALL BE IN ACCORDANCE WITH ANSI/TIA/EIA-222-F, *STRUCTURAL

STEEL ANTENNA TOWERS AND ANTEANNA SUFPPORTING STRUCTURES™,
EQUAL TO ALUS 1~1/2%

AND FEDERAL REOQUIREMENTS FOR OBSTRUCTION

HANGERS,  (TWD WAYEBUIDE LADDERS ARE FUTURE)

19. STEP BOLTS WITH ROHN-LOC SAFETY DEVICE ARE PROVIDED FOR CLIMBING
THE ENTIRE TOMER HEIGHT.

20. 12’ LEG MOUNTING FRAMES AFE TO BE PROYIDED BY QTHERS.

21. NMBERS SHOWN IN BALI.OONS DENOTE ITEM NUMBERS IN BILL OF

MATERIAL .

21°-0~
BASE SPREAD

[

TOWER REACTIONS

COMPRESSION = 369.0 KIPS
TENSION = 332.7 KIPS
TOTAL SHEAR = 58.8 KIPS
0.T.M. = 6330.3 FT-KIPS

|

<" 1200
(rve. )

N

TOWER CONF IGURATION

N.T.S,

TOWER SITIE: ELLINGTON, CT
COUNT'Y: TOLLAND

No.A Reviejien Deacription

TO BE

THIS DRAWING IS THE PROPERTY OF ROWIN, IT IS NOT -
REPRODUCED,
IN PART WITHOUT

A Dete ARev By A Cid B AAppd B

Scele: NONE

By

Orawn,

Likx

Checked:

App. Eng.:

i

Parent Flier

s e S R0 H N
Date 180° SSV TOWER ASSEMBLY
5/11,/00 FOR NEW ENGLAND

§I SITE MANAGEMENT

567/00) ENG. FILE, . NO.. 0488
Y aPRoAaR  |2e o C000488 |




VB826A
WL10F154KD
WL20F154KD
KY695
KY1287A
BGKS8G
ACHWS
A790135
B651264
8K720305
6N500
7N526
8N340
9N334
10N239
11N258
12NS95
13N111
14N79

TOWER ASSY SSV 180' L/AB!

quantity
2.00000
1.00000
1.00000
1.00000
8.00000
15.00000
9.00000
3.00000
1.00000
1.00000
1.00000
1.00000
1.00000
1.00000
1.00000
1.00000
1.00000
1.00000
1.00000
1.00000
1.00000

______ 0ld Wt ----Accum Wt

31,463.91

EA
EA

EA
EA

EA
EA
EA
EA
EA
EA
EA
EA

EA

EA

0.00
1,103.65
1,483.37
1,928.97
2,650.11
3,024.93
4,363.20
4,701.72
5,662.98
5,763.60

0.00
1,103.65
1,483.37
1,928.97
2,650.11
3,024.93
4,363.20
4,701.72
5,662.98
5,763.60

31,463.91

0.00
1,103.65
1,483.37
1,928.97
2,650.11
3,024.93
4,363.20
4,701.72
5,662.98
5,763.60

31,463.91 TOTAL



BILL OF MATERIAL
ﬁ ITEM |OUAN.| PART NO. DESCRIPTION DWG. NO.

Mm_m\mm 3 VL1539 |STEP LEG BEM PIFPE B870581
/ VB36 |DIAG. BRACE (4 X 4 X 1/4) B760147
w &6 VB37 |DIAG. BRACE (4 X 4 X 1/4) B760147

~

[+)}

- FLANGE 24 | 21004764 (374" X 2~ BOLT Asoy C770404

PLATE
6 | 2/0046GA |3/4™ X 1-3/4" BOLT ASSY C770404
30 230029 | 1™ PAL NUTS

Ominiw|(N I~

_
PLA

N/7A

3/4 X 2 BOLT ASSY

_—— 3/4 X 1-3/4 BOLT ASsy

MISUCELLANEOUS INFORMATION
~— SECTION FLANCE PLATE SPREAD
LEG (TYP)

TOP BOTTOM
OFFSET | BEVEL [~5T7r TE N T S 15 TOP BOTTOM
3-(/3° . o
NA 17X17x2| 174 L 17X17x2) 17E|  19°-0 21°-0
NOTE : _ ST |
BRACES ARE PLACED

IN TOFP TO BOTTOM
ORDER GIVEN IN BILL

OF MATERIAL. GCENERAL NOTES

- LEG P/N IS STAMPED AT BOTTOM OF EACH LEG OF EACH SECTION.

AWN~
i
2
o}
5
3
m
3
g
g
2
P
P
3

(0]

- FLANGE BOLTS (#) GIVEN IN BILL OF MATERIAL ARE FOR FLANGE
PLATES AT BOTTOM OF SECTION. IF THE SECTION IS USED AS

A BASE SECTION SEE THE TOWER ASSEMBLY DRAWING OR ANCHOR

BOLT LAYOUT FOR CORRECT SIZE AND QUANTITY OF ANCHOR BOLTS.

BEVEL FOR FLANGE PLATES IS FOR BOTTOM FLANGE PLATES

ONLY UNLESS OTHERWISE NOTED.

&

No.A Revision Description A Date A Rev By A Ckd By A Appd By

THIS DRAWING IS THE PROPERTY OF ROHN. IT IS NOT
TO BE REPRODUCED, COPIED OR TRACED IN WHOLE OR
IN PART WITHOUT OUR WRITTEN CONSENT .

\ h Scale: None By Date Title:
e A
ELEVATION Checked: ul/e | 27— 5 ~43 14N78
App. Eng.: WAS NIWLWW
App. Sates: | 4C |=2-3. 93 | DRAWING NO. : AS30838

/
A




ELEVATION

BILL OF MATERTIAL
ITEM JQUAN.| PART NO. DESCRIPTION DWG. NO.
memm / 3 VL674 |STEP LEG (PIPE 8EH) BBOOI6)
2 6 V5354 |DIAG. BRACE (L 4 x 4 x 1r4) B760145
3 6 V335 |DIAG. BRACE (L 4 X 4 x 1/4) B760145
w»nv\mm 4 | 24 |2100476A [3/4 X z BOLT assy, C770404
5 6 |2100466A |3/4 X I1-3,4 BOLT assy, C770404
*| 6 | 24 2101646GA || X 5-3/4 BOLT assy. (FLANGES) C770404
- 374 X 2 (TyP. )
- 374 X 1-3/4 \j\h.\
.t&WOm.PP)ZNQQW NZ\.-Qm.thﬂHDZ
Almmmﬂmwﬂu\ FLANGE PLATE SPREAD
TOP BOTTOM
OFFSET | BEVEL [—=73F [EZN I Sizr [ron TOP BOTTOM
NOTE  ONA NeA [ 17x17xz) 174 | 17xi17x2| 174] 16°-1) 78" 19'-g”
BRACES ARE PLACED
%Zbﬂm\umwo BOTTOM
RDE] VEN IN BILL
OF MATERIAL. _ CENERAL NOTES
I- LEG P/N IS STAMPED AT BOTTOM OF EACH LEG OF EACH SECTION.
2. PAL NUTS ARE PROVIDED FOR ALL TOWER BOLTS,
3. STEP BOLTS ARE PROVIDED ON ALL THREE LEGS
4

" ONLY

&}
o]
g
n
huj
g

LAYOUT FOR CORRECT SIZE AND QUANTITY OF ANCHOR BOL TS,

FLANGE PLATES I5 FOR BOTTOM FLANGE PLATES
UNLESS OTHERWISE NOTED.

No.A Revision Description

A Daie A Rev By A Ckd By A Appd By

Scale:

THIS DRAWING IS THE PROPERTY OF ROHN. IT IS5 NOT
TO BE REPRODUCED, COPIED OR TRACED IN WHOLE OR .m Q
IN PART WITHOUT OUR WR] TTEN CONSENT

H N

None By Date

BRT| 8/9,95

Checked: Vi &2 %\\AW\M.VM

Orawn:

Title:

ASSEMBLY DETAILS FOR
SSV _SECTION
13N/ |}

App. Eng. : ﬁ mxm\\“\ﬁq

Sales: K [T

| orAWING NO. :

A952345

<)



34 x o>m
BOLT ASSY (TYP)

| S3/4” X =34
BOLT AsSSY (TYP

BILL OF MA TERITAL

ITEM |QUAN.| PART NO. DESCRIPTION DW5. NO.
! 3 VLII58 |STEP LEG BEMS PIPE 8840504
2 6 VB32  |DIAG. BRACE (3-1/2 X 3-1,2 X 1r/4) | 8760142
3 6 VB33 DIAG. BRACE (3-1/2 X 3-1/2 X 1/74) | B760142
4 24 | 2100476A (3/4 X z BOLT ASSY C770404
5 24 | 2I0I64GA (I X 5-3/4 BOLT ASSY (FLANGES) C770404
& 6 | 210046GA |3/4 X I-3/4 BOLT ASSY C770404

MISCELLANEOUS INFORMATION

~e~— SECTION FLANGE PLATE SPREAD
LEG (TYP)
TOP 80TTOM
OFFSET | BEVEL ["3T7F [EnT Srae 2z TOP BOTTOM
NOTE: N/A NA 17X17X2| 17A ) 17X17X2 17A ) 14° 11-278" 16° t1-7279"
BRACES ARE PLACED
IN W.O\u 70 BOTTOM
ORDER GIVEN IN BILL
<0’ OF MATERIAL . CENERAL NOTES
/. LEG P/N IS STAMPED AT BOTTOM OF EACH LEG OF EACH SECTION.
2. PAL NUTS ARE PROVIDED FOR ALL TOWER BOLTS.
3. STEP BOLTS ARE PROVIDED ON ALl THREE LEGS.
4. FLANGE BOLTS {(*) GIVEN IN BILL OF MATERIAL ARE FOR FLANGE
PLATES AT BOTTOM OF SECTION. IF THE SECTION IS USED AS
A BASE SECTION SEE THE TOWER ASSEMBLY DRAWING OR ANCHOR
BOLT LAYOUT FOR CORRECT SIZE AND QUANTI TY OF ANCHOR BOLTS
5. BEVEL FOR FLANGE PLATES IS FOR BOTTOM FLANGE PLATES
ONLY UNLESS OTHERWISE NOTED.
No.A Revision Description A Date A Rev By A Ckd By A Appd By
THIS DRAWING IS THE PROPERTY OF ROHN. IT IS NOT
TO BE REPRODUCED, COPIED OR TRACED IN WHOLE OR
IN PART WITHOUT OUR WRITTEN CONSENT . .
Scale: None By Date Title:
—— - ASSEMBLY DETAILS FOR
Drawn: JOM| 2-5-93 g5V mmnuu“-nz
ELEVATION Checked:  W|Z7 |7-5-73 [ hET
App. Eng. : c.N:w Z-9-93
App. Sales: | AU | =2-99% | orRAWING NO. : A930859

7

Loy




ORDER GIVEN IN BILL
20"’ OF MATERIAL. GENERAL NOTES
L. LEG PN IS STAMPED AT BOTTOM OF EACH LEG OF EACH SECTION.
N 5! Ses"bir A ErOLIOED FOR AL TOWER BCLTS.
— 374 X 1-3/4 (TYP) 4. FLANGE BOLTS (+) GIVEN IN Bhr SE MATERIAL ARE FOR FLANGE
PLATES AT BOTIOM OF SECTION. IF THE SECTION IS USED de
APASE SECTION SEE THE TOWER ASSEMBLY DRAWING O ANCHOR
BOLT LAYOUT FOR CORRECT SIZE AND QUANTITY OF ANCHOR BOLTS.
5. BEVEL FOR FLANGE PLATES I5 FOR BOTTOM FLANGE PLATee
ONLY UNLESS OTHERWISE NOTED.
No.A Revision Description A Date A Rev By A Ckd By A Appd By
THIS DRAWING IS THE PROPERTY OF ROMN. IT IS NOT
TO BE REPRODUCED, COPIED OR TRACED IN WHOLE OR
IN PART WITHOUT OUR WRITTEN CONSENT.
—— - e e ' ASSEMBLY DETAILS Fop
ELEVATION Checked: v 4R | (/~22-75 I IN258
App. Eng. : § //- 27-72s
App. Sates: | A 1/z7/05 | brRAWING NO.: A953 /50

raa

B8ILL OF MATERIAL
ITEM |QUAN.| PART ND. DESCRIPTION DW5. NO.
M»o%mm ! 2 VL2454 [LEG (PIPE 6 E.H) B94 1581
2 I_| VL24545 |STEP LEG (PIPE 6 E.H) B94 1581
3 6 VBI254 |DIAG. BRACE (L 3-1/2 X 1/4) B942266A
w»nﬂmm 4 ) VBIZ255 |DIAG. BRACE (L 3-1/2 X 1,/4) B942266A
5 6 VBI256 |DIAG. BRACE (L 3-1/2 X 1,/4) BO42266A
6 | 36 | 21004764 |BOLT ASSY 3/4 X 2 (BRACE) 770404
*| 7 | 24 | 21016264 |BoLT ASSY | X 5-3/4 (FLANGE) 770404
) 9 | 210046GA |BOLT ASSY 3/4 X I1-3/4 (BRACE) 770404
— 374 X 2 ( TYP)
thmﬁmhhb\(WOQm INFORMATION
A‘mmmdwv\l FLANGE PLATE SPREAD
TOP BOTTOM ,
OFFSET | BEVEL |~ET3 TFoN SIZE 15 TOP BOTTOM
” 13.5X13.5 17.0x17.0 L " r_ "
NOTE: 1/2 ——— | 1358|429 17N 1211 14'-11 78

BRACES ARE PLACED
IN TOFP TO BOTTOM

ear e
L



TOWER
AXIS

FLANGE
PLATE

[~ SECTION

BILL oF MATERTAL

ITEM |QUAN.| PART NO. DESCRIPTION ows. No.
/ 2 VL2256 |LEG 6EMS PIPE B93 124

2 ! VL2256S |STEP LEG 6EHS PIPE B831241

| 3 & V897 DIAG. BRACE (2- lrz x 2-1/2 x 1/4) B77004 1
4 & vBog DIAG. BRACE (2-1,2 X2-1/2 % 1,4) B77004 1

5 (2 VB899 DIAG. BRACE (2-1/2 x 2-1/2 X 1/4) B77004 1

& 45 | 21003064 |5.9" X 1-3/4" BOLT Assy C770404

7 18 121006964 |1~ x a_ 174" BOLT Assy C770404

menmPthmUCm HZWUIZ)ﬂHDZ

FLANGCE PLATE SPREAD
LEG (TyP) TOP 80TTOM
; OFFSET | BEVEL [—57z¢ LP/N] "S1Ze [PoN ToP BorToM
NOTE: --- NZA - 13.8X15.5X | 35p 12:8X13-5% 1358|100y y- 12°-11"
BRACES ARE PLACED
I RDﬂO\um TO BOTTOM
’ ORDER GIVEN IN BILL
20 OF MATERIAL . GENERAL NOTES
L. LEG P/N IS STAMPED AT BOTTOM OF EACH LEG OF EACH SECTION
£- PAL NUTS ARE PROVIDED FOR AL TOWER BOLTS
3. STEP BOLTS ARE PROVIDED ON ONE LEG OMLY.
4. FLANGE BOLTS {*) GIVEN IN BILL OF MATERIAL ARE FOR FLANGE
PLATES AT BOTTOM OF SECTION. IF THE SECTION IS USED AS
o A BASE SECTION SEE THE TOWER ASSEMBLY DRAWING OR ANCHOR
BOLT LAYOUT FOR CORRECT SIZE AND QUANTITY OF ANCHOR BOLTS
5. BEVEL FOR FLANGE PLATES Ie FOR BOTTOM FLANGE PLATES
ONLY UNLESS OTHERWISE NOTED.
No. A Ravision Description A Date A Rev By & Ckda By A App o By
THIS DRAWING IS THE PROPERTY OF ROHN. IT IS NOT
70 BE REPRODUCED, COFPIED OR TRACED IN WHOLE or
IN PART wrI THOUT OUR WRIT TTEN CONSENT.
N Scale: None B Date Title:
W L - — ASSEMBL Y DETAILS FOR
| Orown : CS5R| 2-4-93 mm< mm:m.\/.wl.N.Q\/\
ELEVATION Checked: Y| 2| 2= 9-63 ]
App. Eng. : 75 Z2-9-'923 \Q\/\N/WQ
App. Sales: | AT 1 =NT | DRAWING NoO. - A 4




BILL OF MA TERIAL
0 o
oo ITEM |OUAN.] PART NO. DESCRIPTION DWG. NO.
TOWER ! 2 VLI236 |LEG SEH PIPE 8841319
2 ! VL 12365 |STEP LEG SEM PIPE BB41319
3 6 VB463 |DIAG. BRACE (2-1/2 X 2-1/2 X I/4) | B8l 1379
m”nﬂmm 4 6 VB464 |DIAG. BRACE (2-1/2 X 2-1/2 X 1/4) | 8811379
5 6 VB465 |DIAG. BRACE (2-i/2 X 2~1/2 X 1/4) | 8811379
6 | 45 | 2/10030GA |5/8™ X 1-3/4~ BOLT ASSY C770404
2 7 18 | 210069GA (1™ X I1-1/4" BOLT ASSy C770404
MISCELLANEDUS INFORMATION
SECTION FLANCE PLATE SPREAD
LEG (TYP) TOP BOTION
OFFSET BEVEL | S1Z P/N SIZE PN TOP BOTTOM
. 5. 5X5. 5X 13.5%13., 65 . tom T
NOTE: 172 noa 72X gse |13.5 1354 @10 10°~11

BRACES ARE PLACED
IN TOP TO BOTTOM
ORDER GIVEN IN BILL

OF MATERIAL. GENERAL NOTES

AW~
ﬂ
3
3
i
3
m
D
g
3
P
8
Q
2
<

- FLANGE BOLTS (#) GIVEN IN BILL OF MATERIAL ARE FOR FLANGE
PLATES AT BOTTOM OF SECTION. IF THE SECTION IS USED AS

A BASE SECTION SEE THE TOWER ASSEMBLY DRAWING OR ANCHOR
BOLT LAYOUT FOR CORRECT SIZE AND QUANTITY OF ANCHOR BOLTS.
BEVEL FOR FLANGE PLATES IS FOR BOTTOM FLANGE PLATES

ONLY UNLESS OTHERWISE NOTED.

o

No.A Revision Description A Date A Rev By A Ckd By A Appd By

THIS DRAWING IS THE PROPERTY OF ROHN. IT IS NOT m @ “N \Z

10 BE REPRODUCED, COPIED OR TRACED IN WHOLE OR
IN PART WITHOUT OUR WRITTEN CONSENT.

Scale: None By Date Title:
Do Ton | Sd-53 ASSEMBLY DETAILS FOR
S5V SECTIGON
ELEVATION Checked: V|2 |7 -5.g3% S
App. Eng.: iﬂw N\.QIAU.W N334
App. Sales: |BU | 2N {% | DRAWING NO. - AG30G4 ]




BILL OF MATERIAL
o o
° o ITEM |OUAN.] PART NO. DESCRIPTION DWG. NO.
i 2 VLI235 |(LEG (PIPE 4EH) BB41316
2 / VL 12355 {STEP LEG (PIPE 4EH) 5641316
3 &6 VBIZ8 |DIAG. BRACE (L 2 X2 X 1/4) B770462
4 6 VBI29 DIAG. BRACE (L2 X 2 X 1/4) 8770462
5 &6 VBI30 |DIAG. BRACE (L 2 X Z X 1/4) B770462
& 5 VBI3] |DIAG. BRACE (L 2 X 2 X 1/4) B770462
7 60 | 210030GA |5/8 X 1-3/4 BOLT ASSEMBLY (BRACES)| C770404
nJJ Xx| g 12 | 2/0069GA || X 4-1/4 BOLT ASSEMBLY (FLANGES) | c770404
MISCELLANEQOUS INFORMATION
Illmmmwmwﬁu\ FLANGE PLATE SPREAD
TOFP BOTTOM
OFFSET | BEVEL ["SIZ7E B N1 Size 1PN TOP BOTTOM
"~ 8.5x9.5 . 1
NOTE: 172 — 7X7X1 § 76 | ¥ | 98| 69 1@ 8*-i0

BRACES ARE PLACED
IN TOP TO BOTTOM
ORDER GIVEN IN BILL

OF MATERIAL. GENERAL NOTES

LEG PN IS STAMPED AT BOTTOM OF EACH LEG OF EACH SECTION.
PAL NUTS ARE PROVIDED FOR ALL TOWER BOLTS.

STEP BOLTS ARE PROVIDED ON ONE LEG ONLY.

FLANGE BOLTS (#) GIVEN IN BILL OF MATERIAL ARE FOR FLANGE
PLATES AT BOTTOM OF SECTION. IF THE SECTION IS USED AS

A BASE SECTION SEE THE TOWER ASSEMBLY DRAWING OR ANCHOR
BOLT LAYOUT FOR CORRECT SIZE AND QUANTITY OF ANCHOR BOLTS.
BEVEL FOR FLANGE PLATES IS FOR BOTTOM FLANGE PLATES

ONLY UNLESS OTHERWISE NOTED.

Auh~

&

No.A Revision Description A Date A Rev By A Ckd By A Appd By

THIS DRAWING IS THE PROPERTY OF ROHN. IT IS NOT .m Q -m. .2-

TO BE REPRODUCED, COPIED OR TRACED IN WHOLE OR
IN PART WITHOUT OUR WRITTEN CONSENT.

Scale: None By Date Title:
L [Seates L Dore ASSEMBLY DETAILS FOR
ELEVATION Checked: 7l N fo-C—50 mm,\mmmmm.wgz
App. Eng.: 74 \/0-2- 90
App. Sales: | Pm | fo-2-7s [ orawine NO. - AGOT416




R

[=— SECTION
LEG (TYP)

NOTE :
BRACES ARE PLACED
IN TOP TO BOTTOM

BILL OF MATERIAL
ITEM [QUAN.] PART NO. DESCRIPTION DWG. NO.
! 2 VL964 |LEG 3EH PIPE 8820544
2 ! VL9645 |STEP LEG 3EH PIFE 86820544
3 & VBIi44 |DIAG. BRACE (2x2Xx1/4) B931259
4 6 VBI145 |DIAG. BRACE (2x2x1/4) 8931259
5 6 VBI146 |DIAG. BRACE (2X2X1/4) 8931259
6 5 VBI1147 |DIAG. BRACE (2x2X1/4) B931259
7 3 VBI 148 |DIAG. BRACE (2X2X1/4) B831259
8 12 | 210063GA | 778" X 3-1/2" BOLT ASSY C770404
8 75_| 2/0030GA |5/8" X 1-3/4" BOLT ASSY (BRACES) C770404

MISCELLANEOUS INFORMATION

FLANCE PLATE SPREAD
TOP BOTTOM
OFFSET | BEVEL SIZE | PN SIZE 1P N TOP BOTTOM
172" N/A EX6X3/4| 6C TX7X1 7J 4 8-1/4" &' 9-18

ORDER GIVEN IN BILL
20’ OF MATERIAL. GENERAL NOTES
. LEG P/N IS STAMPED AT BOTTOM OF EACH LEG OF EACH SECTION.
2. PAL NUTS ARE PROVIDED FOR ALL TOWER BOLTS.
N ) 3. STEP BOLTS ARE PROVIDED ON ONE LEG ONLY.
: 4. FLANGE BOLTS (#) GIVEN IN BILL OF MATERIAL ARE FOR FLANGE
PLATES AT BOTTOM OF SECTION. IF THE SECTION IS USED AS
A BASE SECTION SEE THE TOWER ASSEMBLY DRAWING OR ANCHOR
BOLT LAYOUT FOR CORRECT SIZE AND QUANTITY OF ANCHOR BOLTS
5. BEVEL FOR FLANGE PLATES IS FOR BOTTOM FLANGE PLATES
OMLY UNLESS OTHERWISE NOTED.
No.A Revision Description A Date A Rev By A Ckd By A Appd By
THIS DRAWING IS THE PROPERTY OF ROHN. IT IS NOT
70 BE REPRODUCED, COFPIED OR TRACED IN WHOLE OR :
IN PART WITHOUT OUR WRITTEN CONSENT.
] . Scale: None By Date Title:
— A Y TIRE ASSEMBLY DETAILS FOR
ELEVATION Checked: ¢ £-00 73 mm_\vwmmmgz
App. Eng. : VW Nl\\\sww A
App. Sales: | AC [T=1-9%2 | brRAWING NO. - AS30868 _ |




81rIL L OF MATERTIAL
o o ITEM |QUAN.| PART NOD. DESCRIPTION DWG. NO.
| me\mn / 2 VLI6!I |LEG (PIPE 2.557TD) B741244
/ . 2 ! VLI6IS |STEP LEG (PIPE 2.55TD) B741244
3 | 24 VB1403 |DIAGONAL BRACE (L2 X 2 X 1,/4) B971404
m»nw\mm 4 6 VB1404 |DIAGONAL BRACE (L2 X 2 X 1,4) BY71404
5 75 | 210030GA |5/8 X |-3/4 BOLT ASSEMBLY (BRACES)| C790404
3
X | 6 /2 | 21005064 |3/4 X 2-3/4 BOLT ASSEMBLY (FLANGE) C770404
7 16 | S5/8STEP |STEPBOLT ASSY 5/8X6-1/2 W,/DBN B651264
il |
3 RN&GNPP\_ZMDCM INFORMATION
<— SECTION FLANGE PLATE SPREAD
X LEG (TYP)
TOP BOT TOM
Q\u.\n,mm.ﬂ mm,\mﬁ SIZE _ P/N SIZE _\U\Z TOFP BOTTOM
14 | RV |sxexssa| sc |exexsoa| 6a | 47 34 | 2t e
Z0" GENERAL NOTES
! LEG P/N IS STAMPED AT BOTTOM OF EACH LEG OF EACH SECTION.
<. PAL NUTS ARE PROVIDED FOR ALL TOWER BOLTS.
3 3. STEP BOLTS ARE PROVIDED ON ONE LEG ONLY.
: 4. FLANGE BOLTS (K) GIVEN IN BILL OF MATERIAL ARE FOR FLANGE
PLATES AT BOTTOM OF SECTION. IF THE SECTION IS USED Ae
'VBI1403 'BRACES IN A DASE SECTION SEE THE TOWER ASSEMBLY DRAWING OR ANCHOR
L 10p 4 Bave BOLT LAYOUT FOR CORRECT SIZE AND QUANTITY OF ANCHOR BOLTS
X d S. BEVEL FOR FLANGE PLATES 15 FOR BOTTOM FLANGE PLa41ge
ONLY UNLESS OTHERWISE NOTED.
\l "VBI404' BRACES
No.A Revision Description A Date A Rev By A Ckd By A Appd By
y THIS DRAWING IS THE PROPERTY OF ROHN. IT IS NOT
TO BE REPRODUCED, COPIED OR TRACED IN WHOLE OR .m Q m .\/\.
IN PART WITHOUT OUR WRITTEN CONSENT.
. > Scale: NONE By Date ASSEMBLY DETAILS FOR
Orawn: HD | 5/719,/99 SSV SECTION
ELEVATION Checked: “ M.i@..%@ 6N500
App. Eng.: | =T 1S=2/-'7 ENG. FILE: OWG. NO. : A991555
Parent File:| ' 7 SHEET 1 OF | REV.




IDe M N R
ABLIOI | 18* 11 778 | 16" 5378 |i0° 11 a6
ABLI02 21 0 18° 2 1/4 12° 1 172 I~ X 78" ANCHOR BOLTS
. : 10 PER LEG (30 TOTAL)
ABL 103 23" 0 19° 11 13° 3 3/8 14" DIA — \‘/\A
ABL 104 25 0 21" 7 13/16 | 14° 5 3,16 . K
ABLIOS | 8' 11 1/8 7° 8 3/4 51 7/8 -
ABLIO6 | 10° 11 18 | 9° 58216 |6 3 11,16
ABLIO7 | 12* 11 1/8 | 11" 25716 | 7° 5 918 \
ABL 108 15* 2 1/8 13° 1 3/4 8' 9 1/8 ANCHOR BOLT SETTING
ABLIOS | 17* 8 1/8 |I5° 3 11716 10° 2 1,2 wwﬁwmmﬂ%mboq\ﬂ% m__
ABLIOIO| 20° 2 1/8 [ 17° 5 11216\ 11" 7 13716 m .
ABLIOII | 22° 8 178 | 19° 7 11216 13° | 1s8 w‘l,wm TYP.
ABLiolz| 25° 2 1s8 21" 95/8 | 14 6 7,16 S
ABLIOIS| 27° 8 1/8 | 23" 11 578 | i5° 1] 304 —t -
ABL10I4 | 30°* 2 1/8 26" 1 5/8 | 17° 5 116 _
ABLIOIS| 32° 8 148 | 28" 39/i6 | 18° 10 3.8 R %o..:_.\/ TONER AXIS
ABLIOI6| 365 18 | 31" 69216 | 21° 0 3/8 N
ABLIOI7| 40" 2 178 | 34* 9 9/16 | 23' 2 3,9 P \
ABL10I8 | 43° 11 178 | 38° 0 1/2 | 25* 4 5/16 N - s /
ABLIDIS| 47' 8 1/8 41" 3172 | 27' 6 5/16 XK - M
ABLIOZO| 51° 5 1/8 | 44° 6 7716 | 29" g 5,15 M !
ABLIOZI) 55' 2 1/8 | 47° 9 7/16 |31 10 5,18 PLAN VIEW
ABLI02Z| 18' 10 1r4 | 16" 3 15/16 | 10° 10 5/8
ABLI023| 22* 103/ | 19° 95/8 | 13* 2 7,16
ABL 1024 16° 10 1/4 14° 7 3716 9 8 3/4 J-‘I'lw
ABLIOZ5 | 20° 10 3/8 |18 0 13716 12* 0 1,2 6" :
ABLIO26 | 40 0 12 34" B8 1/8 | 23° 1 3/8 E— =
ABL10Z7 | 16° 11 7/8 | 14 @ 9/16 | 9° g 1116

2. ALL ANCHOR BOLTS SHALL MEET OR EXCEED ANCHOR BOLT PROJECTION
REQUIREMENTS OF ASTM A354 GR BC AND
ARE HOOKED 180° AT THE BOTTOM. . .
3. WHEN FOUNDATIONS ARE DESIGNED BY [ 53 TADOED ABLT0Z2_ A8 jo27 2L M )
OTHERS, IT SHALL BE THE RESPONSIBILITY Rz |REVISED NOTE 2 e | W | wou TS
OF THE PURCHASER'S FOUNDATION ENGINEER Ri_JREVISED PLAN VIEW srew| KL | P i3
TO INSURE THAT THE ANCHORAGES PROVIDED No.A Revislen Description A Dete ARev By A Ckd ByMAppd By
ARE COMPATIBLE WITH THE PROPOSED
FOUNDATION DESIGNS AND THAT THE T B Rere s {8 P T v B, AT 1S v R OHN
CAPACITIES OF THE ANCHORAGES ARE NOT IN PART WITHOUT OUR WATTTEN CONSENT.
vmubmmw Nw&mﬂlm STRENGTH OF THE Seates MNE | By | Dare [Tetrer
4. FOR ANCHOR BOLT TEMPLATE DETAILS Orawn: B 8/9/58
SEE DRAWING 873053 . Checkez: lwm|a-r-ee| 10 HOLE ANCHOR BOLT LAYOUT
App. Eng.: 75 | 8-12-89
Arr. Satess | A€ | 8-12-00 VoG, FiLES | ET T

NOTES

FOR ANCHOR AND FOUNDATION TOLERANCES
REFER TO THE LATEST REVISION OF DWG.
NO. ABloz214,




=l £ 40 | 1ITFHS HAVGCEQEE . 29114 4ussod
[—vG9000V :'oN "amg 23714 "9N3I 00 (e|{v| Y X]| Buz ‘ddy
INAWTOVNYH HALIS ANVTONT MAN Q(elh| SM ‘Ped2eyy

d0Hd oo/ 1,80 | 8770 ‘umbug

STIVIAA NOILVANNOA X204 5150 X5 | Svon 97955

NHOHYH

"INIFSNOD NILLIEM SN0 LNOHLIIM 14V NI
HO FTIOHM NI 030VHL HO 03Id00 '0353n005435 39 04
LON SI LI "NHOY 40 ALYTFIO08E FHL SI SNIMVEHD SIHL

Ag pddy WAG pYD W AG Ao W siog W

Uojydjuoseq uojs1Aey W oN

13 ‘NOLONITIF *3LIS H3IMOL ,

(SAVYQ /154 0005 ‘NIW)

"SNOT L YONINWOI.3H

S HIHNLIVAINYN OL ONIGHOIDY
a3TIVLSNI ONY Q3IXIN ‘Ivno3
AINOHIDY HO ‘' 'dH02 1N0H9 ‘SN Ag
OFENLIVAONYW SY 00! 1N0H9 TVIDFHS
YVIS FAIH HLIM GILN0H9 ONY ST T0H

NI G343IN3D SHVvE TvIILHIA 11

MHTA NOTLIVAHTH

VIO w8l 01 .21
“0-"5 ‘

-_\_q
)

‘ON

1
|
| !
| !
i i
1 I
(ONIT11H0 4314Y SITOH NIHINOH | | w0-.61
2R as e 4 '
STI0H VIO w1917 TH19e — | | ooy
| !
! W adliTos
i I
= provemns f I st = ==
KR ISSSSIHER
SIIL i~ === ===;
YYINOHID |- — = — = = XooH
PR
R
'NIW ug— . 9 72 o] T - - - T T T T3 <’ ) 2
XV w0-.01 —SEXAN F::- ------ 1 NASISAN -
79 |r—-——==—=--- 1
r—-——=-=-—-=--- ‘rodd Y314
’ZIIZZZZZIJ NIW w9
- ]
JLIHONOD 40 JdOL / “vIg
(GNNoEY 7TV ) _/.__ 0-.9 —
HIANVHI S¥Xub/C “ ¢
‘937 HIMOL HIVI LV INIT ONNOHI
ONY X204 QI70S 40 NOILVAITI NO MATA 04
SON3J30 FLIHINOI 40 FANTOA TV.LOL 3 SuvT sz

( 'XVW) H3Id | Y04 'SOA N2 S0/
( 'NIN) Y3Id | H04 °"S0A NI 8°9

‘20 wg S31L
HVINOHIO G "ON

ALHAYINOD 40 HAANTOA

5dIX £°6¢ = HVIHS
SdiM £°2¢¢ = NOISN3 L
SdIM 0'69¢ = NOISS3HIW0D

DAT/SNOILIOVHY

“HITENNIN ONIMYHO ININOTGWT
FOVHOHINY GONY LNOAYT NOILVONNOS
05 INIMYHO ATEGWISSY Y3MOL 3F3S
‘310N

\ L

FIOVI HVINIHID
Vid .09 ¥V NO
a3ovds AT7IYN03 s4yvg

TWIILHIA 1] "ON 9/




- DESIGN ASSIMES LEVEL GRADE AT TOWER SITE.
WORK SHALL BE IN ACCORDAMCE WITH ANSI/TIAZETA-222-F, “STRUCTURAL
STANDARDS FUR STEEL ANTENNA TONERS AND ANIEARG SUPPORTING STRUCTURES ™,
. mmgszm o0 TOWER STEEL HEIGHT IS EQUAL TD PLUS [o 100y
12, PURCHASER SHALL VERIFY THE INSTALLATION IS IN CONFORMANCE
Hﬁ%mnn»a STATE, No O FEDERAL REQUIREMENTS FOR 0BSTRUCT Fon
/3. TONER MEMBER DESIGN DOES NOT INCLUDE STRESSES OUE TO ERECTION
SINCE ERELTION EQUIPMENT AND CONDITIONS ARE UMWY DESIGN TOuER \_7/

v >§§§§~1@§<~Fgw s,mg. é:m
% ‘ I.nmm~§;mﬂﬁm:§ﬁ>m;55§.§~§§g ;mmmnli
13- TONER ORIENTATION TO BE DETERMINED BY OTHERS

v 18. DESIGN ASSUMES DAPA TYFE ANTENNAS ARE rboreh SNETRICALLY

17. DESIGN ASSLMES THAT ANTENNA TRANSMISSION L INES AND WAVEGUIDE / . \
LADOERS ARE DISTRIBUTED OVER TWO TOMER FACES, - \“.No ) ~
18. ONE |5-HOLE WAVEBUIDE LADODER WITH 4°-0" ON CENTER RUNB SPACING - Y. —

TOWER DESIGN LOADING COO04EEANE — ANCHOR MATERTAL
DESIGN WIND LOAD PER ANSI/TIA/EIA-222-F 1996, ITeEM| oTr.| PART No. TTEM DESCRIPTION 3 3
S0 MPH BASIC WIND SPEED (12~ RADIAL ICE LOAD). AT T_|30/X764B
7A.|V 34" A2 ] ABL 102
TOP SPREAD THIS TOWER IS DESIGNED TO SUPPORT THE FOLLOWING LoADS, 3t aoo0pes
A4 I T faBiooi4
m.m.s_d ANTENNA E.P.A._(sF) LINE 45| T |b730se——] 7500z,
rT. TYPE NO ICE ICE SIZE ]
7, 175 (12) DAPA 2980.015 ANTENNAS 130.0 155,0 (12)
W/ 12' LEG MOUNTING FRAMES TOTAL TOTAL 1-5.8"
65 (12) DAPA 2980.015 ANTENNAS 130.0 155.0 (12) = LO00458LAB -~ TOWER ACCESSORIES
Py W/ 12" LEG MOUNTING FRAMES TOTAL TOTAL 1-5/8" JEM| OTY.| PART No. ITEM DESCRIPTION DMG. NO.
8] | 2 1tPoA7 PLATE ASSY CAP 5° FL P 5 | 5760739 ]
155 (6) DAPA 2980.015 ANTENNAS 88.0 109.0 (s} 5 T lvagesa GIRT ASSY BNST L7, 75X 13 ~ B80T 5o
M 12 LEG MOUNTING FRAMES TOTAL ToTAL 1-5/8~ 63| |vaezea SHRT ASSY IN L1, 75X. 13~ 63500 ToP T Diogeae—
145 (6) DAPA 2980.015 ANTENNAS 88.0 109.0 (s) {__1W.[OF 153KD LA ASSY W/G FACE (0. 75.44 CS0igia
W/ _12' LEG MOUNTING FRAMES TOTAL TOTAL 1-5/8" fo—| 05 [HL20 154K0__| LADER 4557 W/ FAGE 2g~ 2 47 | C50iarg
KY695 LLIP ASSY /. 75 2.5" AMGLE BRACE NA
135 (6) DAPA 2980.015 ANTENNAS 88.0 109.0 (6) B7 |9 IKviza7a CLIP ASSY 3.5_4" ANGLE LADORW.G Z
§ W/ 12° LEG MOUNTING FRAMES TOTAL TOTAL 1-85/8" [ 2 3 (=] KI'T BA 1%AB 450C T1, | 737765
5 A STGN ANTT-CL THB WARNING ASSY ———1 Z
w:w A790135 BOLT ASSY DRAWING "A750735 ]
T B65/264 STEFBOLT DETATL B651264
BIZ| 1 [sKk720305 ING & DRAINAGE DETATL S5V [ 5K720305 ]
A&14%s
_GENERAL NOTES £000488sD - SAFETY DEVICE
ITEM| orv.] PART NO. ITEM DESCRIPTION D¥G. NO.
_— 1. ROHN COMMNICATION TOWER DESIGNS CONFORM T0 ANSI/TIA/EIA-222-F
UNLESS OTHERWISE SPECIFIED UNDER TONER DESIGN LOADING, c! RLFBAM | BAIRNESS RORN-LOC MEDT UM W/RLSC & TAN N2~
2. ANTENNAS AND LINES LISTED IN TOWER DESION L onois TABLE ARE &2 RLTPAT | POIST ASSY TOP AL 5X553 74 FT AL C73i234
PROVIOED BY OTHERS UNLESS OTHERWISE SPECIFIep. 3 [ CRAZ RESSTRAINT ASSY CABLE R 4P,  N/A
g 3. THE DESIGN LOADING CRITERIA INDICATED HAS BEEN PROVIDED TD [ 5 |RLCRAS RESSTRAINT ASSY CABLE RL 5-72% N/A
/ s g THE DESION LOADING CRITERIA HAS BEEN ASSiney! oo BE BASED o BRACKET 4557 S0F 5P
- ON SITE-SPECIFIC DATA IN ACCORDANCE WiTh ANSI/TIA/E[A-222-F N
< A0 T B VERIFIED BY OTHERS PRIGR T0 INSTALL A+ 1o 617 3717 j7§ 7
8 4. ﬁ %wwﬁﬁ g«%.\ DRAWINGS FOR PART MUBERS £z !_{A790] .} BT ASSy A7907135
= s, mqgﬂ>ﬁ§<~§§9ﬁ§2«§£2§q§
" mnﬂ%%mﬁ THREE LEGS FOR SECTIONS 12 THROUGH 15 AND ALY o
3 Plin st 8. REFER H.umismmﬂahﬂnﬁﬁumgsgmgaz:m
5 BILL. OF MATERIALS.
g Nnnwﬁww&wm\mmoﬁnmumgkh TOWER AND ANCHOR BOLTS (SEE
@ —_— 8. :m.pmmiawgamuﬁimu::mggnwgﬁmnn
w g, EACH SECTION.
10,
"

IS PROVIDED FROM 1074/ ELEVATION T0 ToP oF TOVER FOR SNAP-ON
A2l HANGERS. (740 WAVEBUTDE Lot ARE FUTLRE)
19. STEP oo rs Wi PON-LOC SAFETY DEVICE ARE PROVILED FOR NN
29. |2 oLES WOUNTING FRAMES' ARE TO BE PROVIDED BY OTHERS, TOWER CONFIGURATION
—_— 2. [AMocrs, SHOWN IN BALLOONS DENOTE ITEN MABERS TN St oF NS,
MATERIAL.
TOMER SITIE: ELLINGTON, CT
COUNTY: TOLLAND
No.A Revielen Description A Date & Rev B, A Ckd ByMAppd B
THIS DRAWING IS THE PROFERTY OF RO, IT 15 NOT |-
™ Bt U i e e & | RO N
TOWER REACTIONS ]
R R Soolo tonE 18y | Dere 180 M...m..m._\ w.osw..»w ASSEMBLY
OMORESSION = 369.0 KIPS [Orawns k| 5711700 OR NEW ENGLAND
wmmmmom:m% D Rg e ‘ Sreves V| o] SITE MANAGEMENT
TM. = 6330.3 FT-KiIps App. Eng..: & 567/ 00| ENG. FILE, ows. v, CO00488
Parent Fiie: HAP2RIFAR ___”uu ~ L




C000488LAB

VB826A
WL10F154KD
WL20F154KD
KY&95
KY1287A
BGK8G

ACWS
A750135
B€S51264
SK720305
6NS00
IN526
8N340
9N334
10N239
11N258
12NS5S
13N1i1l1
14N79

TOWER ASSY SSV 180' L/AB'

quantity

u-m

EA
EA
EA
EA
EA
EA
EA

EA
EA
EA
EA
EA
EA
EA
EA

EA

EA

unit wt.

1,103.
1,483.
1,8928.
2,650.
3,024,
4,363.
4,701.
5,662.
5,763.

------ 0ld WL ----A

601.
32.
27.
33.

06

.00

ccum Wt

.91 TOTAL



BIXLL OF MATERIAL
ITEM |QUAN.] PART NO. DESCRIPTION DWG. No.
i Mmasmm ! 3 VL1539 |STEP LEG BEM PIPE B870581
/ 2 6 VB36 |DIAG. BRACE (4 X 4 X 1/4) B760147
3 6 VB37 |DIAG. BRACE (4 X 4 X 1/4) B760147
- ~ wwnﬁmm 4 | 24 | 2100476A | 374" X 2~ BOLT ASSY C770404
- 5 6 | 2100466A |3/4" X |-3/4" BOLT ASSY C770404
6 | 30 | 230029 |1" PaL nUTS N/A
- PLAN *
3/4 X 2 BOLT ASSY
L /4 X 1-3/4 BOLT ASSY
MISCELLANEQOUS INFORMATION
~—— SECTION FLANCE PLATE SPREAD
LEG (TYP) TOP BOTTOM
OFFSET | BEVEL ["ST2E TAN| Sie 160 TOP BOTTOM
3-(/3° P .
NA 7x1 Al 17x17%2) 1 19°-0 210"
NOTE: _ h 17X17x2) 17, X2 | 7E
BRACES ARE PLACED
ORDER Gy vER TN
. GIVEN IN BILL
20 OF MATERIAL . CENERAL NOTES
I. LEG P/N IS STAMPED AT BOTTOM OF EACH LEG OF EACH SECTION.
2. PAL NUTS ARE PROVIDED FOR ALL TOWER BOLTS.
3. STEP BOLTS ARE PROVIDED ON ALL THREE LEGS.
4. FLANGE BOLTS (+) GIVEN IN BILL OF MATERIAL ARE FOR FLANGE
PLATES AT BOTTOM OF SECTION. IF THE SECTION IS USED AS
A BASE SECTION SEE THE TOWER ASSEMBLY DRAWING OR ANCHOR
BOLT LAYOUT FOR CORRECT SIZE AND QUANTITY OF ANCHOR BOLTS
5. BEVEL FOR FLANGE PLATES IS FOR BOTTOM FLANGE PLATES
ONLY UNLESS OTHERWISE NOTED.
No.A Revision Description A Date A Rev By A Ckd By A Appd By
THIS DRAWING IS THE PROPERTY OF ROHN. IT IS NOT
7O BE REPRODUCED, COPIED OR TRACED IN WHOLE OR
IN PART WITHOUT OUR WRI TTEN CONSENT.
Scale: None By Date Title:
— R ST T s ASSEMBLY DETAILS FOR
55V SECTION [(BASE
ELEVA TION Checked: U \h\N' Z~5 ﬂﬂw &&z“m \ \
i App. Eng.: VAS NIWIWW
App. Sales: | 4L |2.9.93 _ DRAWING NO.:  AQ30838
et




8ILL OF MATERTIAL
ITEM |QUAN.| PART NoO. DESCRIPTION DWG. NO.
me\mm ! 3 VL674 |STEP LEG (PIPE BEM) B8OOI/
2 6 V834 |DIAG. BRACE (L 4 X 4 X /,/4) B760145
3 ) V835 |DIAG. BRACE (L 4 X 4 X 1,/4) B760145
AanNGE 4 | 24 | 21004764 |3/4 x 2 BOLT assy. C770404
5 6 |210046GA |3/4 X 1-3/4 BOLT ASSY. C770404
*| 6 | 24 | 21016464 |7 x 5-3/4 BOLT ASSY. (FLANGES) C770404
N 3/4 X 2 (TYP. )
- 374 X 1-3/4 (Typ. )
.ihmﬁm.PPLZWQQM NZ\HDDQLN.HDZ
~—— SECTION FLANGE PLATE SPREAD
LEG (TvP) T0P BOT TOM
OFFSET | BEVEL SIZE | P/N SIZE _|PN TOP BOTTOM
NOTE: " NoA NAA -V 17x17xz) 17a | izxr7x2| 174 ] 16°-11 787 19'-0"
BRACES ARE PLACED
mZDﬂo\u WQ BOTTOM
v RDER GIVEN IN BILL
<0 ’ OF MATERIAL. GENERAL NOTES
f- LEG P/N IS STAMPED AT BOTTOM OF EACH LEG OF EACH SECTION.
2. PAL NUTS ARE PROVIDED FOR ALL TOWER BOL 75
3. STEP BOLTS ARE PROVIDED ON ALL THREE LEGS
4. FLANGE BOLTS (#) GIVEN IN BILL OF MATERIAL ARE FOR FLANGE
PLATES AT BOTTOM OF SECTION. IF THE SECTION 1S USeD AS
A DASE SECTION SEE THE TOWER ASSEMBLY DRAWING OF aNCLOR
BOLT LAYOUT FOR CORRECT SIZE AND QUANTITY OF ANCHOR BOLTS
5. BEVEL FOR FLANGE PLATES 15 FOR BOTTOM FLANGE Py 4 TES
ONLY UNLESS OTHERWISE NOTED.
No.A Revision Description A Dote M Rev By A Ckd By A Appd By
THIS DRAWING IS THE PROPERTY OF ROHN. IT IS NOT
7O BE REPRODUCED, COPIED OR TRACED IN WHOLE OR .m Q .m.
IN PART WITHOUT OUR WRITTEN CONSENT.
LI.I r Scate: None By Date Title.
Drawn: BRT m\. 9/95 memS\MW“ mmm\ﬂlww\m \nlgm
ELEVATION Checked: U 72 %\mﬂ\ﬁ“ 13N}
Aep. Eng.: 7% | 8//¢/9¢C
App. Sales: | X |BC14.8¢ | DrRAWING NO. : AO52345

<)




L 34" X 27
BOLT ASSY (TYP)

| 3/4" X 1-3/4"
-1 BOLT Assy (TvP

~*—— SECTION
LEG (TYPR)

NOTE :

BRACES ARE PLACED
IN TOP TO BOTTOM

BILL OF MATERITAL

ITEM |QUAN.| PART NO. DESCRIPTION DW5. NO.
! 3 VLIIS8 |STEP LEG BEMHS PIPE 8840504
2 6 VB3Z  |DIAG. BRACE (3-1/2 X 3—-1/2 X lr74) | B760142
3 6 VB33 |DIAG. BRACE (3-1/2 X 3-1/2 x 174) | B760142
4 24 | 2100476A (3/4 X 2 BOLT ASSY C770404
5 24 | 210164GA |1 X 5-3/4 BOLT ASSY (FLANGES) C770404
& 6 | 2100466GA |3/4 X 1-3/4 BOLT ASSY C770404

MISCELLANEOUS INFORMATION
FLANGE PLATE SPREAD
TOP BOTTOM
OFFSET | BEVEL 5T 1PN St PN TOP BOTTOM
NA NA - 117x17%2) 174 [17x17x2| 174 140 1128~ | 167 11-20m

ORDER GIVEN IN BILL
<0’ OF MATERIAL. GENERAL NOTES
/. LEG P/N IS STAMPED AT BOTTOM OF EACH LEG OF EACH SECTION.
2. PAL NUTS ARE PROVIDED FOR ALL TOWER BOLTS.
3. STEP BOLTS ARE PROVIDED ON ALL THREE LEGS.
4. FLANGE BOLTS (+) GIVEN IN BILL OF MATERIAL ARE FOR FLANGE
PLATES AT BOTTOM OF SECTION. IF THE SECTION IS USED G
A BASE SECTION SEE THE TOWER ASSEMBLY DRAWING OR ANCHOR
BOLT LAYOUT FOR CORRECT SIZE AND QUANTITY OF ANCHOR BOLTS.
5. BEVEL FUR FLANGE PLATES IS FOR BOTTOM FLANGE PLATES
OMLY UNLESS OTHERWISE NOTED.
No.A Revision Description A Date A Rev By A Ckd By A Appd By
THIS DRAWING IS THE PROPERTY OF ROHN. IT IS NOT
T0 BE REFPRODUCED, COPIED OR TRACED IN WHOLE OR
IN PART WITHOUT OUR WRITTEN CONSENT. '
Scale: None By Date Title:
1 . ASSEMBLY DETAILS FOR
Drawn: JOM) 2-5-93 mm_\ mmnuuru.-mz
ELEVATION Checked: v N\N Nl.m.t.mw 12NS5
App. Eng. : c-NH Z-9-93
App. Satles: | 7€ | 29953 | orRAWING NO. : A930859




BIlLoL OF MATERIAL
! ITEM |QUAN.| PART NO. DESCRIPTION DWGB. NO.
_ memm ! 2 VL2454 |LEG (PIPE 6 E.H) B94 1581
/ 2 / VL2454S |STEP LEG (PIPE 6 E.H) B94158]
3 6 VB1254 |DIAG. BRACE (L 3-1/2 X 1/4) B942266A
Nmnﬁmm 4 6 VBI1255 |DIAG. BRACE (L 3-1/2 X 1/4) BY42266A
5 6 VBI256 |DIAG. BRACE (L 3-1/2 X 1/4) BO42266A
6 | 36 | 2100476GA |BOLT ASSY 3/4 X 2 (BRACE) C770404
#*| 7 | 24 | 21016464 |BOLT AsSY 1 X 5-3.,4 (FLANGE) C770404
_‘I. e 2] 8 | 2/0046GA |BOLT ASSY 3/4 X (-3/4 (BRACE) C770404
. NN
— 374 X 2 (TYP)
MISCELLANEOUS INFORMATION
A'mmmdwal FLANGE PLATE SPREAD
y TOP BOTTOM
. > OFFSET | BEVEL ["BT7E 1PN Size 1EoR TOP BOTTOM
" . 13. 17.0X17.0 v v r 23
NOTE: 172 === |x71.3813-51135B({2:9 IZN| 121 14'-11 7/8
BRACES ARE PLACED
IN TOP TO BOTTOM
ORDER GIVEN IN BILL
20"’ OF MATERIAL. GENERAL NOTES
I. LEG P/N IS STAMPED AT BOTTOM OF EACH LEG OF EACH SECTION.
X Rl R NG
— 374 X 1-3/4 (TYP) 4. FLANGE BOLTS (+] GIVEN IN BILL OF MATERIAL ARE FOR FILANGE
PLATES AT BOTTOM OF SECTION. IF THE SECTION IS USED AS
. > A BASE SECTION SEE THE TOWER ASSEMBLY DRAWING OR ANCHOR
: ; BOLT LAYOUT FOR CORRECT SIZE AND QUANTITY OF ANCHOR BOLTS.
5. BEVEL FOR FLANGE PLATES IS FOR BOTTOM FLANGE PLATES
ONLY UNLESS OTHERWISE NOTED.
No.A Revision Description A Date A Rev By A Ckd By A Appd By
THIS DRAWING IS THE PROPERTY OF ROHN. IT IS NOT
TO BE REPRODUCED, COPIED OR TRACED IN WHOLE OR Q
IN PART WITHOUT OUR WRITTEN CONSENT.
: X Scale: None By Date Title:
L JdL oL ASSEMBLY DETAILS FOR
Drawn: SRH | | 1 /2095
T A SSV SECTION
ELEVATION fcked: Ve o | INZ258
App. Eng. : § \\!NV.\Q“
App. Sates: | M | n/z7/25 orawine No.:  AG53 50

G




BILL oF MATERTAL

ITEM |QUAN.| PART NO. DESCRIPTION OwWG. NO.

/ 2 VL2256 |LEG 6EMS PIPE B931241

2 / VLZ256S |STEP LEG 6EHS PIPE BS831241

3 & V897 DIAG. BRACE (2-1/2 x 2- 172 X 174) B77004 1

4 6 vBese DIAG. BRACE (2-1/2 X 2- 172 X 1/4) B77004/

5 6 v89g9 DIAG. BRACE (2-1/2 x 2- 172 X 1/4) B877004 1

& 45 | 210030GA |5/8" X |-3/4" BOLT ASSy C770404

* 7 18 | 2100696A |17 X 41,47 BOLT ASSY C770404

o

BEVEL FOR FLANGE
ONLY UNLESS OTHERWISE NOTED.

MISCELLANEOCOUS INFORMATION
[~—— SECTION FLANGCE PLATE SPREAD
LEG (TYP) ToP BOTTOM
OFFSET | BEVEL [Tz TEw| Sise eom TOP BOTTOM
u. - - - 14 ” " L. 4
NOTE: --- N/A  [|3.2%13.5X] ;358 15.2X15.5X 13581 10°-14 12°-11
BRACES ARE PLACED
ﬁomovmﬂommo:o:
ORDER GIVEN IN BILL
OF MATERIAL. GENERAL NOTES
/. LEG P/N IS STAMPED AT BOTTOM OF EACH LEG OF EACH SECTION.
2. PAL NUTS ARE PROVIDED FOR ALL TOWER BOL 7S.
Nw. STEP BOLTS ARE PROVIDED ON ONE LEG ONLY.

FLANGE BOLTS (#) GIVEN IN BILL OF MATERIAL ARE FOR FLANGE

PLATES IS FOR BOTTOM FLANGE PLATES

No.A Ravision Description

A Date A Rev By A Ckd By A Appd By

THIS DRAWING
7O BE REPRODUCED, COPI ED

IS THE PROPERTY OF ROMN. IT IS NOT

OR TRACED IN WHOLE OR
IN PART WITHOUT OUR WRITTEN CONSENT.

FROHN

1 ﬁ M“Wz None ﬁwmm‘,\m NWMMW,W Titie: ASSEMBLY DETAILS FOR
ELEVATION Checked: Ul 7| 2 9-63 55V SECTION
App. Eng.: 75 | 7 9-r93 [ ON239
2ppSotes: (X |z -9% | DRAWING NO. : A930842




TOWER
AXIS

FLANGE
PLATE

SECTION
LEG (TYP)

NOTE:

OF MATERIAL.

BRACES ARE PLACED
IN TOP TO BOTTOM
ORDER GIVEN IN BILL

BILL OF MATERITAL
ITEM |QUAN.| PART NO. DESCRIPTION DWG. NO.
/ P=4 VL1236 |LEG SEH PIFPE B841319
2 / VL 12365 |STEP LEG SEM PIPE BB841319
3 & VB463 |DIAG. BRACE (2-1/2 X 2- 172 X 174) Bar11379
4 6 VB464 |DIAG. BRACE (2-1/2 X 2- 172 X 1/4) B8 1379
5 6 VB465 |DIAG. BRACE (2-1/2 X 2- 172 X 1/4) 8811379
& 45 | 2/0030GA |5/8™ X 1-3/4" BOLT ASSY C770404
7 /1B | 2/10069GA | 1™ X I-1/4" BOLT ASSY C770404

MISCELLANEOUS INFORMATION
FLANGE PLATE SPREAD
TOP BOTIOM
OFFSET | BEVEL ST 1B Sioe 1500 TOP BOTTOM
1727 | NA  [7-3%9-5X oo (1350360 s seal g i0n 10°-11"

A~

il

LCENERAL NOTES

LEG P/N IS STAMPED AT BOTTOM OF EACH LEG OF EACH SECTION.
PAL NUTS ARE PROVIDED FOR ALL TOWER BOLTS.

STEP BOLTS ARE PROVIDED ON ONE LEG ONLY.

FLANGE BOLTS (#) GIVEN IN BILL OF MATERIAL ARE FOR FLANGE
PLATES AT BOTTOM OF SECTION. IF THE SECTION IS USED AS

A BASE SECTION SEE THE TOWER ASSEMBLY DRAWING OR ANCHOR
BOLT LAYOUT FOR CORRECT SIZE AND QUANTITY OF ANCHOR BOLTS.
BEVEL FOR FLANGE PLATES IS FOR BOTTOM FLANGE PLATES

ONLY UNLESS OTHERWISE NOTED.

No.A Revision Description

A Date A Rev By A Ckd By A Appd By

THIS DRAWING IS
TO BE REPRODUCED,
IN PART WITHOUT O

THE PROPERTY OF ROHN. IT IS NOT

COPIED OR TRACED IN WHOLE OR
UR _WRITTEN CONSENT.

|ROHN

Scale: None By Date Title:
Orawn: JOM| 2-4-93 hmmmamhuu\ UMN.)HPW FOR
S5V SECTION
ELEVATION Checked: V|/4/2 | 7—5-G3
App. Eng.: 75 2-9-92 N334
App. Sales: |FU | 237 | DRAWING NO. - AQ30G4 |




BILL OF MATERIAL
6 o
° o ITEM |QUAN.| PART NO. DESCRIPTION DWG. NO.
! 2 VL1235 |LEG (PIPE 4EH) BB41316
2 ! VL 12355 |STEP LEG (PIPE 4EH) BB41316
3 5 VBI2B8 |DIAG. BRACE (L 2 X 2 X 1/4) B770462
4 6 VBI123 |DIAG. BRACE (I. 2 X 2 X 1/4) 8770462
5 6 VBI30_ |DIAG. BRACE (L 2 X2 X 1/4) B770462
Gl 6 VBI31 |DIAG. BRACE (L 2 X 2 X 1/4) B770462
7 | 60 | 2/0030GA |5/8 X 1-3/4 BOLT ASSEMBLY (BRACES)| C770404
c x| 8 12 | 210069GA || X 4-1/4 BOLT ASSEMBLY (FLANGES) | C770404
MISCELLANEQUS INFORMATION
¢ i t=— seECcTION FLANGE PLATE SPREAD
LEG (TYP) -
TOP BOTTOM
OFFSET | BEVEL ["BTZE IP/N | SIze 1PN TOP BOTTOM
" 9.5x9.5 v o 1ryer
NOTE: 172 —-— 7X7X1 | 76 | %o | 958 6°-8 1B a-io

BRACES ARE PLACED
ORDER GIVEN' IN BI
4 i 1% IN BILL
& ; OF MATERIAL. GENERAL NOTES

LEG P/N IS STAMPED AT BOTTOM OF EACH LEG OF EACH SECTION.
PAL NUTS ARE PROVIDED FOR ALL TOWER BOLTS.

STEP BOLTS ARE PROVIDED ON ONE LEG ONLY.

FLANGE BOLTS (#] GIVEN IN BILL OF MATERIAL ARE FOR FLANGE
PLATES AT BOTTOM OF SECTION. IF THE SECTION IS USED AS

A BASE SECTION SEE THE TOWER ASSEMBLY DRAWING OR ANCHOR
BOLT LAYOUT FOR CORRECT SIZE AND QUANTITY OF ANCHOR BOLTS.
BEVEL FOR FLANGE PLATES IS FOR BOTTOM FLANGE PLATES

ONLY UNLESS OTHERWISE NOTED.

Auh~

ol

No.A Revision Description A Doate A Rev By A Ckd By A Appd By

THIS DRAWING IS THE PROPERTY OF ROHN. IT IS NOT .m Q .m. .2-

TO BE REPRODUCED, COPIED OR TRACED IN WHOLE OR
IN PART WITHOUT OUR WRITTEN CONSENT.

. L Scale: None By Date Title:
B E2T S Lo ASSEMBLY DETAILS FOR
ELEVATION Checked: \“\N 0~ NI\WQ mmf\mmwmmN.Dz
App. Eng.: | 7T |/0-2-90
App. Sales: | Pl |}t -Ta |orAWING No. - ASO 1416




BILL oF MATERITAL
Qo o
o o ITEM |QUAN.| PART NO. DESCRIPTION DWG. NO.
| memm ! 2 VL964 |LEG 3eEMH PIPE BB20544
/ 2 ! VLS645 |STEP LEG 3EH PIFE BB20544
3 6 VBI144 |DIAG. BRACE (2X2XI/4) B931259
m»n\umm 4 & VBI145 |DIAG. BRACE (2x2x1,4) B931259
5 &6 VBI146 |DIAG. BRACE (2x2X1/4) BS31259
6 6 VBI147 |DIAG. BRACE (2X2X1/4) B931259
7 6 VBI148 |DIAG. BRACE (2X2X1/4) B931259
T 2 4 12 | 210063GA |7/8" X 3-1/2" BOLT ASSY C770404
| 9 75 | 2/0030GA |5/8™ X 1-3/4" BOLT ASSY (BRACES) C770404
’ ; MISCELLANEOUS INFORMATION
=-— SECTION _ FLANCE PLATE SPREAD
LEG (TYP)
TOP BOTTOM
OFFSET BEVEL SIZE _ P/N SIZE _.hv\z TOP BOTTOM
1 ) NOTE: 172 N/A  |6x6x3/4| 6C | 7x7x1 | 74 | 4 8-14" 6 919
> BRACES ARE PLACED
ORDER GIven’ 1 kT
N LL
20" OF MATERIAL . GENERAL NOTES
L. LEG P/N IS STAMPED AT BOTTOM OF EACH LEG OF EACH SECTION.
€. PAL NUTS ARE PROVIDED FOR ALL TOWER BOL TS
7 3 3. STEP BOLTS ARE PROVIDED ON ONE LEG ONLY.
X 4. FLANGE BOLTS (+) GIVEN IN BILL OF MATERIAL ARE FOR FLANGE
PLATES AT BOTTOM OF SECTION. IF THE SECTION IS USED AS
A _BASE SECTION SEE THE TOWER ASSEMBLY DRAWING OR ANCHOR
BOLT LAYOUT FOR CORRECT SIZE AND QUANTITY OF ANCHOR BOL TS
5. BEVEL FOR FLANGE PLATES IS FOR BOTTOM FLANGE PL A TES
OMLY UNLESS OTHERWISE NOTED.
No.A Revision Description A Date A Rev By A Ckd By A Appd By
THIS DRAWING IS THE PROPERTY OF ROHN. IT IS NOT
TO BE REFPRODUCED, COFPIED OR TRACED IN WHOLE OR .
IN PART WITHOUT OUR WRITTEN CONSENT.
. X Scole: None By Date Title:
o : . — ASSEMBLY DETAILS FOR
Drawn: JOM| 2-8-93 S5V mmh.w..N.Qz
ELEVATION Checked: ¢ £/ f3 _ 7N5286
App. Eng. : /512-//-193 : _
App. Sales: | AT |T<1-9% | DRAWING NO. : A 930868




BILL OF MATERTAL
a o
° o ITEM |QUAN.| PART NO. DESCRIPTION DWG. NO.
| me\wﬁ / 2 VLI6!I |LEG (PIPE 2.557D) B741244
/ . 2 ! VLISIS |STEP LEG (PIPE 2.557T0) B741244
S | 24 | VBI403 |DIAGONAL BRACE (L2 x 2 x 1/4) B971404
m»nﬂmm 4 6 VBI404 |DIAGONAL BRACE (L2 X 2 X 1,4) 8971404
S _| 75 |2/10030GA |5/8 X 1-3/4 BOLT ASSEMBLY (BRACES) | C770404
| 6 /2 | 21005064 |3/4 X 2-3/4 BOLT ASSEMBLY (FLANGE) | C770404
7 /6 | 5/BSTEP |STERPBOLT ASSY 5/8X6-1,2 W 08N B651264
. an : )
. MISCELLANEOUS INFORMATION
fmmmﬂwwﬂh\ FLANGE PLATE SPREAD
3 TOP BOTTOM
OFFSET | BEVEL [~ET3¢ [N Size Tem TOP BOTTOM
trav | 32173 | sxsxssa| s 6x6x3/4| 64 | 4'-7 34~ 4'-8 14"

GENERAL NOTES
- LEG P/N IS STAMPED AT BOTTOM OF EACH LEG OF EACH SECTION.

AN~
9
5
%]
S
a
3
m
RY)
3
N
S
]
Q
P4
Q
S
m
(%]
Q
Z
~

"VBI403 'BRACES IN A BASE SECTION SEE THE TOWER ASSEMBLY DRAWING OR ANCHOR
\\l TOP 4 BAYS

0N
[ui]
<
R
)
8
R
3
”
,D
>
\'
H
—y
19
]
3
8
3
2
R
2
(%)
m
'rQ
n
\'
B

\l 'VBI1404° BRACES

No.A Revision Description A Date A Rev By A Ckd By & Appd By

y THIS DRAWING IS THE PROPERTY OF ROMN. 1T 1o NOT
TO BE _REPRODUCED, COPIED OR TRACED IN WioLp OR .NW Q m. .\/\
IN PART WITHOUT OUR WRITTEN CONSENT.
N o | Scale: NONE By Date ASSEMBLY DETAILS FOR
T Drawn: HD | 5/19,/99 SSV SECTION
ELEVATION Checked: (S| 5~/9-99 EN500
) App. Eng.: | 7T |S-2/-"9 ENG. FILE: OWG. NO. : A991555

Parent File:| | i SHEET | OF REV.




IDe M N R
ABLIOI | 18° 11 7,8 16°° 5378 |10° 11 9/16 _
ABL 102 21 o 8° 2 1/4 121 /2 1" X 78" ANCHOR BOLTS
’ \. 10 PER LEG (30 TOTAL)
ABL 103 23 0 19° 11 13 3 3,8 147" DIA — i
ABL 104 25" 0 217 713716 | 14* 5 3,16 <
ABLIOS | 8 1} I/8 78 3/4 51 7/8 - -
ABLIOS | 10* 11 128 | 9' 5916 |6 3 11,18
ABLIO7 | 12" 11 178 | 11 25716 | 7' 5 9,15 ;/
ABL 108 15 2 1/8 13° 1 3/4 8' 9 1,8 ANCHOR BOLT SETTING
ABLIOS | 17" 8 18 |15 3 1116 10° 2 12 wwo*%wmml‘.wboﬂ\ﬂ% m_
ABLIOIO| 20° 2 1/8 117 5 11246 | 11" 7 13/16 “
ABLIOIT )| 22" 8 1/8 |19 7 1i/16] 13° 4 1,8 Msl,wm. TYp.
ABL 1012 25 2 178 21 9 5.8 14 6 72716 R
ABLIOIS| 27° 8 1/8 | 23" 11 5/8 | 15 1/ 3.4 ~—+ 3~
ABLIOI4| 30° 2 Is8 26° 158 | (7' 5 1,16 _
ABLIOIS| 32" 8 18 | 28 38/i6 | 18° 10 3,8 R mﬂ»_l\/ TOWER AXIS
ABLIOIE| 36 5 178 | 31" 6 9/16 | 21 0 3,8 N
ABLIOIZ| 40' 2 1/8 | 34° 9 9/16 | 23° 2 3,9 s \
ABLIOIB| 43" 11 1/8 | 38" 0 172 | 25' 4 5.18 \ - B v
ABLIOIS) 47° 8 18 41" 3172 | 27 6 5/16 XKpe - MOA
ABLIOZ0| 51" 5 178 | 44" 6 7716 | 29° g 5/18 M -
ABLIOZI ] 55' 2 1/8 | 47° 9 7/16 (31* 10 5/16 PLAN VIEW
ABLIOZZ| 18" 10 i1r4 | 16" 3 15/16) 107 10 5/8
ABLIOZ23| 22 10 3.8 19° 958 | 132 7.8
ABL 1024 16" 10 1,4 14 7 3/16 9 8 3/4
ABL10Z5)| 20" 10 3/8 | 18" 0 13716 | 127 0 1,2
ABLIOZ6| 40° 0 1/2 34° 8 18 | 23 1 3,9
ABLIO27| 16° 11 778 | 14" 8 9716 | 9* 9 11,16

2. ALL ANCHOR BOL TS SHALL MEET OR EXCEED
REQUIREMENTS OF ASTM A354 GR BC AND
ARE HOOKED 180° AT THE BOTTOM. . o
3. WHEN FOUNDATIONS ARE DESIGNED By R3 JADODED ABLI022-ABL 1027 1218 PID Tant 7S
OTHERS, IT SHALL BE THE RESPONSIBILITY R2 IREVISED MOTE 2 smvo} WEB WX/ TS
OF THE PURCHASER'S FOUNDATION ENGINEER R1 |REVISED PLAN VIEW L) BT T 7S
TO INSURE THAT THE ANCHORAGES PROVIDED No.A_Revisfon Dascription A Dete ARev By A Ckd ByA Appd D
ARE COMPATIBLE WITH THE PROPOSED
FOUNDATION DESIGNS AND THAT THE T3 B AR, L5y T E ORIy . Bee, 1T 1S wor R 0O H N
CAPACITIES OF THE ANCHORAGES ARE NOT N PART WITHOUT OUR WRITTEN CONSENT.
LIMITED BY THE STRENGTH OF THE = = e
MuOQZD\D NuNozm. wiet NONE )y Date -
4. FOR ANCHOR BOLT TEMPLATE DETAILS Orewn: P8} 8/9/89
SEE DRAWING B730521. Chocked: | wr| B-11-88 10 HOLE ANCHOR BOLT LAYOUT
App. Ens.: | 16 ] 8-12-p8
Are. Saisns | AE | 6-12-88 | 0w, rFice. [ oawrine wo. %uWB R3

NOTES

FOR ANCHOR AND FOUNDATION TOLERANCES
REFER TQ THE LATEST REVISION OF DWG.
NO. ARI10214.

ANCHOR BOLT PROJECTION




EY s 40 / 1335 AVCEG2F ‘ o774 f9saog]
[-%G9000V _:'oN ‘amg ELEIRC ] 0Q[e[P[ Y x| :Bu3 -day
INIWTOVNVA HLIS ANVTONH MAN Q(elh| 5 )

404 00/ 1£/¢0 | G870 $UMB I

STIVIAd NOIL VANNOAd MD04 si0g Ag INON 925

HO FTOHM NI
LON ST 1T

NHOH

" INISNO

O NILLISM YN0 LNOHLIM L&V NI
J30VyH1 HO 031400 ‘dIoNaosdasy 36 o4
‘NHOY H0 ALY3I0HS FHL SI ONIMVYHT SIHI

AG Pddy WAQ p¥3 W Ag Aog W siog ¥

uotidiuoseq uoisiaey ¥ 'oON

MATA NOILVAHTH

L2 'NOLONITITF :3LIS YIMNOL , VIO w81 0L .21
MO_IS ‘
(SAVQ L/ISd 0005 "NIW) r
"SNOI LVAONINWOIIY | ﬂ
S.HIENLIVINNYN 01 ONIOHOIDY | |
A3TIVLSNI GNY G3IxXIN ‘Ivno3 1 X
03A0HIdY HO ‘' "dH00 1N089 °S°'n Ag i )
O3HNLIVAINYW SV 001 1N0H9 TVIDTFHS ' i
HVIS FAI4 HIIM GILN0H9 ONY ST710H | |
NI (G3H3IN3TD syvd TvIILHIA 11 "ON ; :
(ONITII40 Y31V STTOH NIHONOY ; ! w0~,6/
ONY NVY3T0) F70812 VIO .09 \ |
v NO 032V4S ATWN03 | :
S3T0H 'vIO . ¥ (91) TI1IHG X | Y0y
| |
! : ali7os
== paamaes 1 s == | ==
WNE0 = E SSETRRERR
i I
e N
SIS [prS - 2008
i I S THLYIMN
g-. 9 ::“"‘*—““'“. &0 TI10S
‘NIN . T 2L N _-_—_-—_—-l L NN
‘XYW n0-.0! mﬁg [===———-==- 7 ASOS -X—
r-—-—-—=—=——-=- R
r=—=—=—==—=-=-- 1 o484 H3Id
r_____---22 NIN .9
¥
JLIHONOD 40 S04 / vIg
(ONNOSY 17Tv) I
HTANVHD oGEXn b/S —/ «0-.9
937 H3IM0L HIVI LV 3INIT ONAOH9
ONV Y204 0I70S 40 NOILVAITI NO MAITA 01
SONIH3a FLIHINOS 40 3INNT0A V101 3 SV wsEm
24 /
( XVW) 43Id | H04 "SOA'NI S0/ ‘20 . & sgu
( ‘NIW) Y314 | HO04 'SGA NI 8°'9 = YYINIHIT S ON
HALHATIONOD 40 HFWNTOA 72

SdIX § 65 = HYIHS 3

SdIX ¢'2gs = NOISN3 1

SdIX 0°698 = NOISSIHANOD
OHT/SNOILIOVHHT

"HIGNNN ONIMYHA ININGIEGNT
TIVEHOHINY AGNV LNOAYT NOILYONNOS

HO4 ONIMYHOT ATIGNISSY HImOL 335
‘3LON

FI9VI HVINIHID
VIO 09 vV NO
030vdS AT7vN03 syvg

TWIILHIA 11

'ON g/




